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TNPSC GROUP I – TEST BATCH 2022 
TEST V – 10TH VOL II, 11, 12TH STD GEOGRAPHY 

 
1. Population density means 

a. No. of persons living below the poverty line b. No. of persons living per sq.km 
c. No. of persons in a village   d. No. of persons living per km 
e. Answer not known 
kf;fs;njhif mlu;j;jp vd;gJ. 
a. tWikf;Nfhl;bw;F fPo; cs;s egu;fspd; vz;zpf;if. 
b. xU rJu fpNyhkPl;lu; gug;gstpy; thOk; egu;fspd; vz;zpf;if  
c. xU fpuhkj;jpYs;s egu;fspd; vz;zpf;if.  
d. xU fpNyhkPl;lupy; trpf;Fk; egu;fspd; vz;zpf;if 
e. tpil njhpatpy;iy 
 

2. Consider the following statements: 
Assertion (A): October 12 is celebrated as the Day of 6 Billion. 
Reason (R): According to the United Nations, the world’s population reached 6 billion on 
October 12, 1999. 
a. Both A and R are correct and R is the correct explanation of A 
b. A is true, but R is false 
c. A is false, but R is true 
d. Both A and R are true and R is not the correct explanation of A 
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A): mf;Nlhgu; 12 Mk; ehs; 6 gpy;ypad; ehs; vd nfhz;lhlg;gLfpwJ. 
fhuzk; (R): I.eh. rigapd; $w;Wg;gb 1999 Mk; Mz;L mf;Nlhgu; 12 Mk; ehs; cyf 
kf;fs;njhif 6 gpy;ypaid mile;jJ. 

a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 
3. The sex ratio of Tamil Nadu is ___________ 

a. 942 females/1000 males   b. 980 females/1000 males  
c. 996 females/1000 males   d. 1054 females/1000 males 
e. Answer not known 
jkpo;ehl;bd; ghypd tpfpjk; ____. 
a. 942 ngz;fs;/1000 Mz;fs; b. 980 ngz;fs;/1000 Mz;fs; 
c. 996 ngz;fs;/1000 Mz;fs; d. 1054 ngz;fs;/1000 Mz;fs; 
e. tpil njhpatpy;iy 
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4. Which of the following statements is/are correct? 

i) The literacy rate of India is 74.04% 

ii) Literacy rate of Kerala is 93.91% 

iii) Bihar is the least literate state in India  

iv) Six Indian states account for about 60% of all illiterates in India 
a. i, ii, iii   b. iii, iv   c. i, iii, iv   
d. all the above  e. Answer not known 
gpd;tUk; $w;Wfspy; rupahdit vit? 

i) ,e;jpahtpy; fy;tpawpT 74.04%. 

ii) Nfushtpd; fy;tpawpT 93.91% 

iii) gPfhu; kpfFiwe;j fy;tpawpT nfhz;l khepyk;. 

iv) ,e;jpahtpy; MWkhepyq;fs; 60% fy;tpawptw;wtu;fisf; nfhz;Ls;sJ. 
a. i, ii, iii   b. iii, iv   c. i, iii, iv   
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy  

 
5. Consider the following statements: 

I. According to UNESCO Institute for statistics, there are 750 million illiterate adults, 
two-thirds of whom are women. 

II. Sustainable Development Goals 4 and 5 associated with 2030 targets of Education 
and Gender equality respectively. 

a. i, ii correct   b. i only correct   c. ii only correct    
d. i, ii incorrect  e. Answer not known 
gpd;tUk; $w;wpid Muha;f. 
I. And];Nfh Gs;spapay; epWtdk; mspj;j jftypd;gb ,d;Dk; 750 kpy;ypad; taJ 

te;jth;fspy; 3y; 2 gq;F ngz;fs; vOj;jwptw;wtu;fshf ,Uf;fpd;wdu;. 
II. 2030-k; Mz;bw;fhd fy;tp ,yf;Ffs; Ngzj;jFe;j Nkk;ghL ,yf;Ffs; 4 kw;Wk; 5 

KiwNa fy;tp kw;Wk; ghypd rkj;Jtk; njhlh;ghdJ 
a. i, ii rup   b. i kl;Lk; rup   c. ii kl;Lk; rup    
d. i, ii jtW   e. tpil njhpatpy;iy 

 
6. Which of the following statements about Thiruppur is/are correct? 

i) It is located on the banks of the Noyyal River 

ii) It has an average elevation of 295 meters 

iii) Thiruppur bags the fifth fastest growing city in India.  
a. i, ii, iii  b. i, ii  c. i, iii  d. ii, iii e. Answer not known 
gpd;tUk; $w;Wfspy; jpUg;G+u; gw;wp rupahdit vit? 

i) ,J neha;ay; Mw;wq;fiuapy; mike;Js;sJ. 

ii) ruhrupahf 295 kPl;lu; cauj;jpy; mike;Js;sJ. 

iii) ,e;jpahtpy; kpf Ntfkhf tsu;e;J tUk; khefuq;fspy; jpUg;G+h; 5-tJ ,lj;ijg; 
ngw;Ws;sJ. 

a. i, ii, iii  b. i, ii  c. i, iii  d. ii, iii e. tpil njhpatpy;iy 
 

7. Which of the following is/are incorrectly matched? 

i) Exhaustible resources - Coal, oil and Minerals  

ii) Developed resources  - Petroleum  

iii) Biotic resources   - Air, land and water  
a. i, ii   b. ii only   c. iii only   
d. none   e. Answer not known 
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gpd;tUtdtw;Ws; jtwhfg; nghUe;jpait vit? 

i) GJg;gpf;f ,ayh tsq;fs; - epyf;fup> vz;nza; kw;Wk; fdpkq;fs; 

ii) Nkk;gLj;jg;gl;l tsq;fs; - ngl;Nuhypak; 

iii) capupd tsq;fs; - fhw;W> epyk; kw;Wk; ePu; 
a. i, ii   b. ii kl;Lk;    c. iii kl;Lk;   
d. VJkpy;iy  e. tpil njhpatpy;iy 
 

8. Which of the following is/are non-ferrous minerals? 
i) Manganese   ii) Bauxite   iii) Tin  iv) Copper 
a. i, ii   b. ii, iii   c. i, iv    
d. ii only  e. Answer not known 
gpd;tUtdtw;Ws; ,Uk;G mw;w fdpkq;fs; vit? 
i) khq;fdP]; ii) ghf;i]l; iii) nts;sPak;  iv) jhkpuk; 
a. i, ii   b. ii, iii   c. i, iv    
d. ii kl;Lk;  e. tpil njhpatpy;iy 
 

9. Which of the following is/are incorrectly matched? 
Iron Ore  Colour  
i) Magnetite  - Red 
ii) Hematite - Black 
iii) Limonite - Grey 
iv) Siderite - Brown 
a. i, ii   b. iii, iv    c. iii only   
d. none  e. Answer not known 
gpd;tUtdtw;Ws; jtwhf nghUe;jpait vit? 
,Uk;gpd; jhJf;fs;  epwk; 

i) Nkf;dill;  - rptg;G 

ii) N`kill;   - fUg;G 

iii) ypNkhidl;  - rhk;gy; epwk; 

iv)  rpliul;  - gOg;G epwk; 
a. i, ii   b. iii, iv   c. iii kl;Lk;   
d. VJkpy;iy  e. tpil njhpatpy;iy 

 
10. Arrange the following in descending order based on their iron content 

i) Hematite   ii) Magnetite  iii) Siderite   iv) Limonite  
a. i, ii, iii, iv  b. i, ii, iv, iii    c. ii, i, iii, iv   
d. ii, i, iv, iii  e. Answer not known 
gpd;tUk; jhJf;fis mtw;wpd; ,Uk;gpd; msT mbg;gilapy; ,wq;Ftupirapy; vOJf. 
i. N`kill;  ii. Nkf;dill;  iii. rpliul;  iv. ypNkhidl; 
a. i, ii, iii, iv  b. i, ii, iv, iii   c. ii, i, iii, iv   
d. ii, i, iv, iii  e. tpil njhpatpy;iy 
 

11. Consider the following statements: 
I. Australia is the largest producer of Iron Ore in the world  
II. India is the 4th largest producer of Iron Ore in the world  
a. i, ii correct    b. i only correct  c. ii only correct    
d. i, ii incorrect   e. Answer not known 
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gpd;tUk; $w;Wfis Muha;f. 
I. cyfpy; ,Uk;Gj;jhJ cw;gj;jpapy; kpfg;ngupa ehL M];jpNuypah. 
II. ,e;jpah ,Uk;Gj;jhJ cw;gj;jpapy; cyfstpy; 4-tJ ngupa ehL. 
a. i, ii rup   b. i kl;Lk; rup    c. ii kl;Lk; rup  
d. i, ii jtW   e. tpil njhpatpy;iy 
 

12. Choose the correct statements: 

i) South Africa is the largest producer of manganese in the world 

ii) India is the 8th largest producer of manganese in the world  

iii) India possesses the largest reserves of manganese in the world  
a. i, ii, iii  b. i, ii     c. i, iii   
d. ii, iii  e. Answer not known 
rupahd $w;wpidj; Nju;e;njL. 

i) cyfstpy; khq;fdP]; cw;gj;jpapy; kpfg;ngupa ehL njd;Mg;gpupf;fh. 

ii) cyfstpy; ,e;jpah khq;fdP]; cw;gj;jpapy; vl;lhtJ ngupa ehlhf cs;sJ. 

iii) ,e;jpah cyfstpy; kpfg;ngupa khq;fdPR jhJ ,Ug;igf; nfhz;Ls;sJ. 
a. i, ii, iii  b. i, ii     c. i, iii   
d. ii, iii  e. tpil njhpatpy;iy 

 
13. Which of the following statements is/are incorrect? 

i) Copper is found in the igneous and metamorphic rocks  
ii) Copper + Tin → Brass 
iii) Copper + Zinc → Bronze  
a. i and ii  b. ii and iii   c. i only  
 d. none   e. Answer not known 
gpd;tUk; $w;Wfspy; jtwhdit vit? 

i) jhkpuk; jPg;ghiwfs; kw;Wk; cUkhwpag; ghiwfspy; fhzg;gLfpwJ. 

ii) jhkpuk; + nts;sPak; → gpj;jis 

iii) jhkpuk; + Jj;jehfk; → ntz;fyk; 
a. i kw;Wk; ii  b. ii kw;Wk; iii   c. i kl;Lk;  
d. VJkpy;iy  e. tpil njhpatpy;iy 

 
14. The fool’s gold refers to pyrite of ___________ 

a. Iron Oxide    b. Iron Sulphide   c. Aluminium Oxide  
d. Aluminium Sulphide  e. Answer not known 
Kl;lhs;fspd; jq;fk; vd;W miof;fg;gLtJ ____. 
a. ,Uk;G Mf;i]L   b. ,Uk;G ry;/igL  c. mYkpdpak; Mf;i]L  
d. mYkpdpak; ry;/igL  e. tpil njhpatpy;iy 

 
15. Consider the following statements 

i) Mica has a crystalline and layered structure which can be split into very thin sheets. 

ii) Mica does not react to water, acids, oil or solvents 
a. i, ii correct   b. i only correct   c. ii only correct   
d. i, ii incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 

i) ikf;fh xU gbfk; kw;Wk; mLf;Ffs; nfhz;l mikg;G ,it kpfTk; nky;ypa 
jhs;fs; Nghd;W gpupf;f KbAk;. 

ii) ikf;fh ePu;> mkpyq;fs;> vz;nza; my;yJ fiug;ghd;fSld; tpidGuptjpy;iy. 
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a. i, ii rup   b. i kl;Lk; rup    c. ii kl;Lk; rup   
d. i, ii jtW   e. tpil njhpatpy;iy 

 
16. Choose the incorrect statements 

i) Phosphate occurs in the igneous rocks 
ii) It is mainly used in fertilizer  
iii) India is the 20th largest producers of phosphate in the world 
a. i and ii   b. iii only    c. i only   
d. none  e. Answer not known 
jtwhd $w;wpidj; Nju;e;njL. 
i) gh];Ngl; jPg;ghiwfspy; fhzg;gLfpwJ. 
ii) ,J Kf;fpakhf cuk; jahupg;gpy; gad;gLfpwJ. 
iii) cyfstpy; gh];Ngl; cw;gj;jpapy; ,e;jpah 20-tJ ngupa ehL. 
a. i kw;Wk; ii   b. iii kl;Lk;    c. i kl;Lk;  
d. VJkpy;iy   e. tpil njhpatpy;iy 

 
17. Which of the following is/are renewable sources of energy? 

i) Fossil fuels   ii) Biomass  iii) Natural gas 
iv) Geothermal  v) Petroleum  
a. ii, iii  b. ii, iii, iv  c. ii, iv  d. ii only e. Answer not known 
gpd;tUtdtw;Ws; GJg;gpf;fj;jf;f tsq;fs; vit? 
i. Gijgbk vupg;nghUl;fs;  ii. capu;thArf;jp  iii. ,aw;if vupthA 
iv. Gtpntg;g Mw;wy;   v. ngl;Nuhypak; 
a. ii, iii  b. ii, iii, iv  c. ii, iv  d. ii kl;Lk; e. tpil njhpatpy;iy 

 
18. Which of the following statements about steam coal is/are correct? 

i) It is used for producing steam  

ii) It has high carbon content 

iii) India is the 2nd largest producer of steam coal in the world  
a. i, ii and iii  b. i and ii   c. i and iii   
d. ii and iii  e. Answer not known 
gpd;tUtdtw;Ws; ePuhtp epyf;fup gw;wp rupahd $w;Wfs; vit? 

i) ,J ePuhtpapid cw;gj;jp nra;ag; gad;gLfpwJ. 

ii) ,J mjpf msT fhu;gidf; nfhz;Ls;sJ. 

iii) cyfpNyNa ePuhtp epyf;fup cw;gj;jpapy; ,e;jpah ,uz;lhkplk; tfpf;fpd;wJ. 
a. i, ii kw;Wk; iii  b. i kw;Wk; ii   c. i kw;Wk; iii    
d. ii kw;Wk; iii   e. tpil njhpatpy;iy 
 

19. Which of the following is/are correctly matched regarding the forms of petroleum? 
i) Liquid form  - Crude oil 
ii) Solid form  - Asphalts 
iii) Gaseous form - Natural gas 
a. i, ii   b. i, iii  c. ii, iii  d. i, ii, iii  e. Answer not known 
gpd;tUtdtw;Ws; ngl;Nuhypaj;jpd; tbtq;fspd; mbg;gilapy; rupahfg; nghUe;jpait 
vit? 

i) jput tbtk; - fr;rh vz;nza; 

ii) jpl tbtk; - fUq;fhiufs; (Asphalts) 

iii) thA tbtk; - ,aw;if vupthA 
a. i, ii   b. i, iii  c. ii, iii  d. i, ii, iii  e. tpil njhpatpy;iy 
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20. Consider the following statements: 
Assertion (A): The oil floats over water 
Reason (R):  The density of oil is lighter than the water  
a. Both A and R are true and R is the correct explanation of A  
b. A is true but R is false  
c. A is false but R is true 
d. Both A and R are true and R is not the correct explanation of A  
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A):   ePupd;Nky; vz;nza; kpjf;fpd;wJ. 
fhuzk; (R): ePiutpl vz;nzapd; mlu;j;jpf; FiwT 

a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 
21. Which of the following is/are correctly matched regarding nuclear accidents? 

i) Three mile island - March 28, 1979 

ii) Chernobyl   - April 21, 1986  

iii) Fukushima Daiich - March 11, 2011 
a. i, ii and iii  b. i and ii   c. i and iii   
d. ii and iii  e. Answer not known 
gpd;tUtdtw;Ws; mZrf;jp tpgj;Jfs; gw;wp rupahfg; nghUe;jpait vit? 

i) %d;W iky; jPT - khu;r; 28> 1979 

ii) nru;Ndhgpy; - Vg;uy; 21> 1986 

iii) GF~pkh lha;r;rp - khu;r; 11> 2011 
a. i, ii and iii  b. i and ii   c. i and iii   
d. ii and iii  e. tpil njhpatpy;iy 
 

22. Which is the most important source of nuclear energy? 
a. Radium   b. Plutonium   c. Uranium   
d. Thorium  e. Answer not known 
mZ Mw;wypd; Kf;fpa %ykhff; fUjg;gLtJ vJ? 
a. Nubak;  b. GSl;Nlhdpak;  c. ANudpak;   
d. Njhupak;  e. tpil njhpatpy;iy 
 

23. Which of the following statements about Noor complex is/are correct? 

i) Noor complex is the world’s largest solar power plant  

ii) It is located in Kalahari desert 
a. i, ii   b. i only   c. ii only   
d. none  e. Answer not known 
gpd;tUk; $w;Wfspy; E}u;fhk;g;sf;]; Fwpj;J rupahdit vit? 

i) cyfpd; kpfg;ngupa mstpy; mlu;j;jpahd #upa Mw;wy; Miy. 

ii) ,J fhy`hup ghiytdj;jpy; mike;Js;sJ. 
a. i, ii   b. i kl;Lk;   c. ii kl;Lk;   
d. VJkpy;iy  e. tpil njhpatpy;iy 
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24. Choose the correct statements about Kamuthi solar plant project? 

i) The project was commissioned by Adani power  

ii) Its power generating capacity is 684 MW 

iii) It was completed on 21 September 2016 
a. i, ii    b. i, iii     c. ii, iii    
d. all the above   e. Answer not known 
fKjp #upa kpd;rhu jpl;lk; gw;wpa rupahd $w;Wfs; vit? 

i) ,J mjhdp kpd; jpl;lj;jhy; njhlq;fg;gl;lJ. 

ii) 648 nkfhthl; cw;gj;jpj; jpwd; nfhz;lJ. 

iii) ,j;jpl;lk; 21 nrg;lk;gu; 2016-y; Kbf;fg;gl;lJ. 
a. i, ii     b. i, iii     c. ii, iii    
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 
 

25. Consider the following statements: 
I. The largest tidal power station is at Sihwalake in South Korea. 
II. The first tidal power station was located in La Rance in France 
III. India’s first attempt to harness tidal power for generating electricity 

would be in the form of a 3 MW plant at the Durgaduani creek of West Bengal 
a. I, II and III correct  b. I and II correct   c. I and III correct    
d. III only correct  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. cyfpd; kpfg;ngupa Xjkpd;epiyak; njd;nfhupahtpy; cs;s rp ;̀th Vupapy; 

mike;Js;sJ. 
II. Kjy; Xj Mw;wy; epiyak; gpuhd;]py; cs;s yhnud;]py; mike;Js;sJ. 
III. ,e;jpahtpd; Kjy; Kaw;rpahf Nkw;F tq;fhsk; Re;ju;gd; nly;lhtpy; Ju;fhJ}dp f;upf; 

-y; Xj Mw;wypd; %yk; 3 nkfhthl; kpd;rhuk; cw;gj;jp nra;a KbT 
nra;ag;gl;Ls;sJ. 

a. I, II kw;Wk; III rup  b. I kw;Wk; II rup  c. I kw;Wk; III rup   
d. III kl;Lk; rup  e. tpil njhpatpy;iy 
 

26. Arrange the following in descending orders based on their contribution to world’s 
electricity generation 
i. Nuclear energy  ii. Coal iii. Wind Energy iv. Hydel Energy 
a. ii, iv, i, iii  b. ii, i, iv, iii   c. i, iii, iv, ii   
d. i, ii, iv, iii  e. Answer not known 
cyf kpd;rhu cw;gj;jpapy;> mjd; kpd; cw;gj;jp jpwdpd; gq;fspg;gpd; mbg;gilapy; 
,wq;F thpirapy; thpirg;gLj;Jf. 
i) mZ Mw;wy; ii) epyf;fhp  iii) fhw;W rf;jp iv) ePh;kpd; rf;jp 
a. ii, iv, i, iii  b. ii, i, iv, iii    c. i, iii, iv, ii   
d. i, ii, iv, iii  e. tpil njhpatpy;iy 
 

27. Which of the following is/are incorrectly matched? 
Minerals    India’s Rank  
i) Iron Ore   - 4th  
ii) Manganese  - 6th  
iii) Bauxite   - 5th  
iv) Gold   - 33rd  
a. i, ii  b. iii, iv  c. ii only d. none e. Answer not known 
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gpd;tUtdtw;Ws; nghUj;jkw;wij Njh;T nra;f. 
fdpkq;fs;    ,e;jpahtpd; juk; 
i) ,Uk;Gj;jhJ  - 4tJ 
ii) khq;fdPR   - 6tJ 
iii) ghf;i]l;   - 5tJ 
iv) jq;fk;   - 33tJ 
a. i, ii  b. iii, iv c. ii kl;Lk; d. vJTkpy;iy e. tpil njhpatpy;iy 
 

28. Choose the correct statement about transhumance 

i) It is the seasonal movement of people with their livestock between fixed summer 
and winter pastures  

ii) In mountain region it implies movement between higher altitude pastures during 
summer and valleys in winter.  

a. i and ii  b. i only   c. ii only   
d. none  e. Answer not known 
Nka;r;ry; njhlh;ghf gpd;tUk; $w;Wfspy; rhpahdJ vJ? 
i. ,j; njhopypy; <LgLgth;fs; xt;nthU tUlKk; Nfhilfhyj;jpYk;> Fsph;fhyj;jpYk; 
jq;fs; ke;ijAld; epiyahd Gy;ntspfis Nehf;fp ,lk;ngah;e;jdh;. 
ii. ,lg;ngah;tpy; ,th;fs; jq;fs; fhy;eilfis Nfhilfhyj;jpy; caukhd gFjpfis 
Nehf;fpAk;> Fsph;fhyj;jpy; gs;sj;jhf;F gFjpfis Nehf;fpAk; ,lk;ngah;th;.  
a. i, ii   b. i kl;Lk;   c. ii kl;Lk;   
d. vJTkpy;iy e. tpil njhpatpy;iy 
 

29. Match the following: 
Economic Activity  Name 
A. Primary    1. Blue Collar  
B. Secondary   2. Red Collar  
C. Tertiary   3. White Collar 
D. Quaternary   4. Pink Collar  
E. Quinary   5. Gold Collar  
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 4 3 5 
c. 2 4 1 3 5 
d. 1 2 4 3 5 
e. Answer not known 
nghUj;Jf. 
nghUshjhu eltbf;iffs;  ngah; 
A. Kjy; epiy njhopy;  1. ePy fOj;Jg;gl;il 
B. ,uz;lhk; epiy njhopy;  2. rpfg;G fOj;Jg;gl;il 
C. %d;whk; epiy njhopy;  3. nts;is fOj;Jg;gl;il 

D. ehd;fhk; epiy njhopy;  4. ,sQ;rptg;G fOj;Jg;gl;il 
E. Ie;jhk; epiy njhopy;  5. jq;f fOj;Jg;gl;il 
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 4 3 5 
c. 2 4 1 3 5 
d. 1 2 4 3 5 
e. tpil njhpatpy;iy 
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30. Choose the incorrectly matched pairs 

i) Pomology - Study of crop circles  

ii) Olericulture  - Science of Vegetable growing  

iii) Floriculture  - Cultivation of flowers  

iv) Sericulture  - Rearing of Silkworms  
a. i and ii b. i only  c. ii only d. none e. Answer not known 
nghUj;jkw;w ,iziaj; Njh;T nra;f. 
i. Nghkhy[p  - gaph; tl;l Ma;T 
ii. xyhp fy;r;rh; - fha;fwp tsh;g;G gw;wpa mwptpay; 
iii. /g;Nshhp fy;r;rh; - G+f;fs; tsh;f;Fk; fiy 
iv. nrhp fy;r;rh; - gl;Lg;GO tsh;j;jy; 
a. i kw;Wk; ii  b. i kl;Lk;   c. ii kl;Lk;   
d. VJkpy;iy  e. tpil njhpatpy;iy 
 

31. Choose the correct statements: 
i) The study of grape cultivation is known as Viticulture  
ii) Viticulture is also termed as “truck farming” 
a. i, ii  b. ii only  c. i only d. none  e. Answer not known 
rhpahd thf;fpaq;fis Njh;T nra;f. 
i. jpuhl;ir rhFgb gw;wpa gbg;G tpl;b fy;r;rh; vd;W miof;fg;gLfpwJ. 
ii. tpl;b fy;r;rh; “buf; tptrhak;” vd;W miof;fg;gLfpwJ. 
a. i, ii  b. ii kl;Lk;  c. i kl;Lk; d. VJkpy;iy e. tpil njhpatpy;iy 
 

32. Consider the following statements: 
I: The book “Isolated State” was written by Von Thunen  
II:  The Von Thunen model is an excellent illustration of the balance 
  between land costs and transportation costs. 
a. I, II correct   b. I only correct    c. II only correct   
d. I, II incorrect  e. Answer not known 
gpd;tUk; thf;fpaq;fis ftdpf;fTk;. 
I. “jdpj;jg; gFjp” (InrhNyl;ll; ];Nll;) vd;w E}ypd; Mrphpah; thd;J}dd;. 
II. thd;J}ddpd; khjphp epyj;jpd; tpiy kw;Wk; Nghf;Ftuj;J nryT Mfpatw;wpd; 
rkepiyfis mbg;gilahf nfhz;L cUthf;fg;gl;Ls;sJ. 
a. I, II rhp   b. I kl;Lk; rhp    c. II kl;Lk; rhp   
d. I, II jtwhdJ  e. tpil njhpatpy;iy 
 

33. The cultural properties representing the combined works of nature and man is known as 
_________ 
a. Culture region    b. Cultural Diffusion  c. Cultural Landscape   
d. Cultural Interaction  e. Answer not known 
____ vd;gJ ,aw;if kw;Wk; kdpjdpd; xUq;fpize;j gilg;Gfis Fwpf;Fk;  

 fyhr;rhu gz;GfshFk;. 
a. fyhr;rhu kz;lyk;  b. fyhr;rhug; guty;  c. fyhr;rhu epyj;Njhw;wk;  
d. fyhr;rhu njhlu;G   e. tpil njhpatpy;iy 
 

34. Consider the following statements: 
I. Language is the primary instrument for transmitting culture. 
II. India has the world’s second highest number of languages after Papua New 

Guinea 
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a. I, II correct  b. I only correct    c. II only correct   
d. I, II incorrect e. Answer not known 
gpd;tUk; thf;fpaq;fis ftdpf;fTk;. 
I. nkhop fyhr;rhuj;ij gug;Gk; xU gpujhd fUtpahFk;. 
II. gg;Gth epA+ fpdpahtpw;F gpwF> ,e;jpah cyfpd; ,uz;lhtJ mjpf nkhopfisf; 
nfhz;l ehlhFk;. 
a. I, II rhp  b. I kl;Lk; rhp    c. II kl;Lk; rhp   
d. I, II jtW  e. tpil njhpatpy;iy 
 

35. Which of the following statements about Indian cultural realm is/are correct? 

i) It is the culture of the Indian sub-continent  

ii) Baker called it a sub-continent culture 

iii) The culture of this region is greatly influenced by Vedic values 
a. i, ii and iii  b. i and iii   c. i and ii   
d. ii and iii   e. Answer not known 
,e;jpa fyhr;rhu kz;lyj;Jld; njhlh;Gilatw;wpy; vJ/vit rhpahdJ? 
i. ,e;jpa Jizf; fz;lj;jpd; fyhr;rhug; gFjpfis cs;slf;fpaJ. 
ii. Ngf;fh; ,jid xU Jiz fz;l fyhr;rhuk; vd;W mioj;jhh;. 
iii. ,e;j fyhr;rhuk; Ntj fyhr;rhu kjpg;Gfspd; kiwKf jhf;fj;ijf; nfhz;Ls;sJ. 
a. i, ii kw;Wk; iii b. i kw;Wk; iii   c. i kw;Wk; ii   
d. ii kw;Wk; iii   e. tpil njhpatpy;iy 
 

36. Which of the following statements is/are correct? 

i) The Caucasoid is known as “White people”. 

ii) Native Americans and Eskimos are classified as Caucasoid  

iii) Living in Europe and Middle East  
a. i, ii and iii  b. i and iii    c. i and ii   
d. ii and iii  e. Answer not known 
gpd;tUk; $w;Wfspy; vJ/vit rhpahdJ. 
i. fhfrha;L kf;fs; “nts;isah;fs;” vd miof;fg;gLfpd;wdh;. 
ii. fhfrha;L> mnkhpf;fh;fs; kw;Wk; v];fpNkhf;fs; vd;W tifg;gLj;jg;gLfpd;wdh;. 
iii. ,th;fs; INuhg;gh (k) kj;jpa fpof;F ehLfspy; trpf;fpd;wdh;. 
a. i, ii kw;Wk;  iii b. i kw;Wk; iii    c. i kw;Wk; ii   
d. ii kw;Wk; iii  e. tpil njhpatpy;iy 
 

37. Choose the incorrect statements about Dravidians: 
i) The five major ethnic groups of Dravidian people in India are Tamil, Telugu, 

Kannada, Malayalam and Thoda.  
ii) Arabic Script Brahui is the only Dravidian language which is not known to have 

been written in a Brahmi based script.  
a. i, ii  b. i only  c. ii only d. none e. Answer not known 
jpuhtplh;fs; Fwpj;j $w;Wfspy; jtwhdit vJ? 
i. jpuhtpl ,df;FOtpy; jkpo;> njYq;F> fd;dlk;> kiyahsk; (k) Njhlh Mfpa 5 
Kf;fpa gphpTfis nfhz;Ls;sJ. 
ii. gpuhkp vOj;J tbtpy; vOjg;glhj xNu jpuhtpl nkhop mNugpa vOj;jhd gpu`p 
nkhopjhd; 
a. i, ii  b. i kl;Lk;  c. ii kl;Lk; c. VJkpy;iy e. tpil njhpatpy;iy 
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38. Consider the following statements: 
I. The first second and third world believe that “the land belongs to the people” 
II. The tribal people are being termed as the fourth world 
a. I, II correct   b. I only correct   c. II only correct     
d. I, II incorrect  e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
I. Kjy;> ,uz;lhtJ kw;Wk; %d;whtJ cyfq;fs; “epyk; kf;fSf;F nrhe;jkhdJ” 

vd;W ek;GfpwJ. 
II. goq;Fb kf;fs; ehd;fhtJ cyfk; vd;W miof;fg;gLfpwhh;fs;. 
a. I, II  rhp   b. I kl;Lk; rhp   c. II kl;Lk; rhp   
d. I, II jtW   e. tpil njhpatpy;iy 
 

39. Match the following: 
A. Grasslands   1. Aborigines  
B. Tropical Deserts   2. Kyrghizs  
C. Mountainous Region  3. Gujjar  
D. Monsoon Region   4. Todas  
E. Artic cold regions   5. Chukchi 
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 4 3 5 
c. 2 1 3 4 5 
d. 5 1 4 2 3 
e. Answer not known 
nghUj;Jf. 
A. Gy;ntsp    1. mghhp[pd;]; 
B. ntg;gkz;ly ghiytsq;fs; 2. fph;fp]; 
C. kiyg; gpuNjrk;   3. F[;[hh; 
D. gUtf;fhw;W gpuNjrk;  4. Njhlh;fs; 
E. JUt Fsph; gpuNjrk;  5. Rf;fp 
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 4 3 5 
c. 2 1 3 4 5 
d. 5 1 4 2 3 
e. tpil njhpatpy;iy 
 

40. Choose the correct statements about Bhils tribal group 

i) They are popularly known as the bowman of Rajasthan  

ii) They are the most widely distributed tribal groups in India 

iii) It is divided into two main groups  
a. i, ii and iii  b. i and ii   c. i and iii   
d. ii and iii  e. Answer not known 
gpy;];fs; goq;Fb ,df;FO njhlh;ghd thf;fpaq;fspy; rhpahdij Njh;T nra;f.  
i. gpy;]; uh[];jhdpd; gpugykhd tpy;kdpjh;fs; vd mwpag;gLfpwhh;fs;.  
ii. ,th;fs; ,e;jpahtpy; kpfTk; mjpfkhf gutpAs;s goq;Fb ,df;FOf;fs; 
iii. ,J ,uz;L Kf;fpa FOf;fshfg; gphpf;fg;gLfpwJ  
a. i, ii kw;Wk; iii b. i kw;Wk; ii    c. i kw;Wk; iii   
d. ii kw;Wk; iii  e. tpil njhpatpy;iy 
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41. Which of the following tribal group belong to the Pre-Aryan period and have been the 
great fighters the time of the British? 
a. Santhals  b. Gonds     c. Bhils   
d. Angami  e. Answer not known 
Ke;ija Mhpa fhyj;ij rhh;e;j goq;Fbapdh;> gphpl;b~; fhyj;jpypUe;Nj ngUk; 
Nguhspfshf ,Ue;j goq;Fbapdh; ahh;?  
a. rhe;jyh;fs;  b. Nfhd;Lfs;    c. gpy;];fs;  
d. mq;fhkp   e. tpil njhpatpy;iy 
 

42. Which of the following statements about Bhutia tribal group is/are correct? 

i) Bhutia tribes are of the Tibetan origin. 

ii) In Sikkim, they are known as Manji. 

iii) Bhutia forms 14% of the total population of Sikkim.  
a. i, ii and iii   b. i and ii   c. i and iii   
d. ii and iii   e. Answer not known 
G+l;bah goq;Fbapdh; Fwpj;j $w;Wfspy; vJ / vit rhpahdJ. 
i. G+l;bah goq;Fbapdh; jpngj;jpa tk;rhtspiar; Nrh;e;jth;fs;  
ii. rpf;fpkpy;> mth;fs; kQ;rp vd;W miof;fg;gLfpwhh;fs;  
iii. G+l;bah rpf;fpkpd;; nkhj;j kf;fs; njhifapy; 14% Mth;.  
a. i, ii kw;Wk; iii  b. i kw;Wk; ii    c. i kw;Wk; iii   
d. ii kw;Wk; iii   e. tpil njhpatpy;iy 
 

43. Choose the correct statements: 

i) Tribes of Tamil Nadu are concentrated mainly in the district of Nilgiris.  

ii) There are around 38 tribes and sub tribes in Tamil Nadu.  
a. i, ii   b. i only    c. ii only   
d. none  e. Answer not known 
rhpahd thf;fpfq;fis Njh;T nra;f.  

i. jkpo;ehl;by; goq;Fbapdh;fs; ePyfphp khtl;lj;jpy; Kjd;ikahf fhzg;gLfpd;wdh; 
ii. jkpo;ehl;by; Rkhh; 38 goq;Fbapdh; kw;Wk; Jiz goq;Fbapd FOf;fs; cs;sdh;.  

a. i, ii    b. i kl;Lk;    c. ii kl;Lk;   
d. vJTkpy;iy  e. tpil njhpatpy;iy 
 

44. Find out the incorrect statements about Badagas tribe: 
i) They are pastrol community. 
ii) Dwelling in the higher plateau of the Palani hills. 
iii) The largest group of tribes in Nilgiris.  
iv) They belong to Shiva sect.  
a. i and ii only  b. iii only   c. iv only   
d. none   e. Answer not known 
gLfh;fs; njhlh;ghd $w;Wfspy; rhpaw;wJ vJ?  
i. mth;fs; Nka;r;ry; r%fj;jpdh;  
ii. godp kiyfspd; cah; gPlG+kpapy; trpf;fpd;wdh;  
iii. ePyfphpapy; cs;s kpfg;nghpa goq;Fbapdf; FO  
iv. ,th;fs; irtg; gphpitr; rhh;e;jth;fs;  
a. i kw;Wk; ii kl;Lk;  b. iii kl;Lk;    c. iv kl;Lk;      
d. vJTkpy;iy   e. tpil njhpatpy;iy 
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45. Which of the following statements about Irulas tribe is/are correct? 
i) This tribes occupy the lower slopes and forests at the base of the Nilgiri hills.  
ii) They constitute the second largest group of tribes after the Badagas  
iii) Similar to the Badagas in many ways.  
a. i, ii and iii   b. i and ii    c. ii and iii   
d. i and iii   e. Answer not known 
,Ush;fs; Fwpj;j $w;Wfspy; vJ / vit rhpahdJ?  
i. ePyfphp kiyapd; mbthuj;jpy; cs;s jho;thd rhpTfspYk; fhLfspYk; 

fhzg;gLfpd;wdh;.  
ii. ,th;fs; gLfh;fSf;F gpwF ,uz;lhtJ kpfg; nghpa goq;Fbapduhth;  
iii.  ,th;fs; gy topfspy; gLfh;fisg; Nghd;wth;fs;   
a. i, ii kw;Wk; iii  b. i kw;Wk; ii     c. ii kw;Wk; iii    
d. i kw;Wk; iii   e. tpil njhpatpy;iy 
 

46. Which of the following is/are correctly matched pair/s? 
i) 21st Amendment Act  - Nepali 
ii) 71st Amendment Act  - Konkani, Manipuri and Sindhi 
iii) 92nd Amendment Act  - Bodo, Dogri, Maithili and Santali 
a. i, ii and iii  b. i and ii   c. ii and iii   
d. iii only  e. Answer not known 
nghUj;jkhd ,izia Njh;T nra;f.  
i. 21-tJ murpayikg;G rl;ljpUj;jk;  - Neghsp 
ii. 71-tJ murpayikg;G rl;ljpUj;jk;  - nfhq;fdp> kzpg;G+hp & rpe;jp 
iii. 92-tJ murpayikg;g rl;ljpUj;jk;  - NghNlh> Nlhf;hp> ikjpyp> re;jhsp 
a. i, ii kw;Wk; iii b. i kw;Wk; ii   c. ii kw;Wk; iii  
d. iii kl;Lk;  e. tpil njhpatpy;iy 
  

47. Which of the following is/are incorrectly matched? 
Linguistic Family  Languages  

i) Austric   - Munda, Mon-Khmer  

ii) Sino-Tibetan   - Bodo, Karen, Manipuri 

iii) Indo-Aryan  - Hindi, Urdu 
a. i and ii only  b. iii only    c. ii only   
d. none   e. Answer not known 
jtwhd ,iziaj; Njh;T nra;f.  
 nkhopf; FLk;gk;   nkhop  
i. M];l;hpf;   - Kz;lh> Nkhd; - fpkph;  
ii. irNdh – jpngj;jpa  - NghNlh> fhPd;> kzpg;g+hp 
iii. ,;e;Njh – Mhpa  - `pe;jp> cUJ  
a. i kw;Wk; ii    b. iii kl;Lk;    c. ii kl;Lk;   
d. vJTkpy;iy   e. tpil njhpatpy;iy 
   

48. The One Belt One Road (OBOR) is the new silk road of 
a. Russia   b. China    c. India    
d. Pakistan   e. Answer not known 
xNu kz;lyk; xNu rhiy Gjpa gl;Lr; rhiy ,izg;Gfis nfhz;lJ.  
a. u~;ah  b. rPdh    c. ,e;jpah   
d. ghfp];jhd;  e. tpil njhpatpy;iy 
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49. India launched its first geostationary Satellite called APPLE on  
a. April 29, 1980  b. June 19, 1981  c. July 11, 1983   
d. January 2, 1980  e. Answer not known 
,e;jpah jd; Kjy; Gtpepiyr; nraw;if Nfhshd Mg;gpis Vtpa jpdk; 
a. 1980> Vg;uy; 29  b. 1981. [Pd; 19  c. 1983> [Piy 11   
d. 1980> [dthp 2   e. tpil njhpatpy;iy 
 

50. Choose the correct statement about Kalamsat: 
i) It is the world’s lightest satellite. 
ii) It’s weight is 68 grams. 
iii) It was designed by Tamilnadu student Rifath Sharook. 
iv) It was launched by NASA on 22 July 2017. 
v) The first to be manufactured Via 3D printing  
vi) It was selected through a competition, ‘Cubes in Space’, sponsored jointly by NASA 

and ‘I Doodle Learning’.  
a. i, iii, v, vi   b. i, iii, iv, vi   c. i, ii, iii, v   
d. all the above   e. Answer not known 
fyhk;rhl; Fwpj;j thf;fpaq;fis ftdp:  

i. cyfpd; kpfTk; vilf;Fiwe;j nraw;iff;Nfhs;  
ii. ,J 68 fpuhk; vil nfhz;lJ 
iii. ,ij jkpo;ehl;L khztd; hp/g;ghj; r&f; tbtikj;jhh;.  
iv. ,J [Piy 22> 2017 y; ehrhthy; Vtg;gl;lJ.  
v. Kjy; Kg;ghpkhz mr;irf; nfhz;L jahhpf;fg;gl;ljhFk;.  
vi. cubes in space vd;w ,g;Nghl;b ehrh kw;Wk; I Doodle learning vd;w ,uz;L 

epWtdq;fspd; cgaj;jhy; elj;jg;gl;ljhFk;.  
a. i, iii, v, vi   b. i, iii, iv, vi   c. i, ii, iii, v   
d. ,it midj;Jk;   e. tpil njhpatpy;iy 

 
51. Match the following: 

A. GPS  1. United States  
B. GLONASS  2. European Union 
C. GALILEO  3. Russia  
D. BEIDOU  4. China  
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 3 2 
d. 2 3 1 4 
e. Answer not known 
nghUj;Jf:  
A. GPS    1. If;fpa mnkhpf;fh  

B. GLONASS   2. INuhg;gpa A+dpad;  
C. GALILEO   3. u~;ah  
D. BEIDOU   4 rPdh  
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 3 2 
d. 2 3 1 4 
e. tpil njhpatpy;iy 
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52. Choose the correct statements about IRNSS 
i) It is an autonomous global satellite navigation system.  
ii) It was developed by ISRO 
iii) It provides location information service to users in India and the region extending 

for upto 1500km from the Indian boundary.  
a. i, ii and iii   b. i and ii   c. ii and iii   
d. i and iii   e. Answer not known 
IRNSS Fwpj;j $w;Wfspy; rhpahdJ vJ?  
i. ,J jd;dhl;rp cyfshtpa topfhl;L nraw;ifNfhs; mikg;ghFk;  
ii. ISRO – thy; cUthf;fg;gl;lJ 
iii. ,J ,e;jpah kw;Wk; ,e;jpahit Rw;wp 1500 fp.kP njhiytpy; mike;Js;s 

gFjpfSf;F jd; Nritia mspf;fpwJ. 
a. i, ii kw;Wk; iii  b. i kw;Wk; ii    c. ii kw;Wk; iii    
d. i kw;Wk; iii   e. tpil njhpatpy;iy 
 

53. Which of the following is/are incorrectly matched pair/s? 
i) Rachel Carson’s “Silent Spring”    - 1962 
ii) Stockholm UN conference on Human Development - 1976 
iii) Brundtland Commission Report     - 1987 
iv) Kytoo Protocol       - 1997 
a. i and ii  b. iii and iv    c. ii only   
c. iv only  e. Answer not known 
nghUj;jkw;w ,izia Njh;T nra;f.  
i. Nur;ry; fhh;]d; "mikjp Cw;W"    - 1962 
ii. ];lhf;N`hk; - kdpj tsh;r;rpf;fhd If;fpa ehl;L fUj;juq;F – 1976  
iii. g;uz;l;yz;l; Mizaj;jpd; mwpf;if   – 1987 
iv. f;Nahl;Nlh newpKiwfs;     - 1997 
a. i kw;Wk; ii  b. iii kw;Wk; iv  c. ii kl;Lk;  

 d. iv kl;Lk;   e. tpil njhpatpy;iy 
 

54. Which of the following statements about Environmental Impact Assessment is/are 
correct? 
i) EIA was introduced in India in 1978 with respect to river valley projects. 
ii) Since EIA was amended 13 times. 
iii) The MOEF recently notified new EIA legislation in September 2006. 
a. i, ii  b. i, iii  c. ii, iii  d. All the above e. Answer not known 
Rw;Wr;#oy; jhf;fk; Fwpj;j $w;Wfspy; rhpahdJ vJ?  
i. ,e;jpahtpy; Rw;Wr;#oy; jhf;fj;ij mstpLk; Kiw Mw;Wg;gs;sjhf;F 

nray;jpl;lq;fis mstpLk; Nehf;fj;NjhL 1978-y; njhlq;fg;gl;lJ.  
ii. ,e;j Rw;Wr;#oy; jhf;fj;jpy; 13 Kiw jpUj;jq;fs; nra;ag;gl;Ls;sd.  
iii.  MOEF Gjpjhf xU EIA rl;lj;ij nrg;lk;gh; 2006y; ntspapl;lJ.  
iv. a. i, ii b. i, iii  c. ii, iii  d. ,it midj;Jk; e. tpil njhpatpy;iy 
 

55. Choose the correct statements about Bhopal Gas Disaster? 
i) It took place on December 3, 1984.  
ii) The Factory name was Union Carbide. 
iii) The gas Methyl isocyanides was released. 
a. i, ii   b. ii, iii   c. i, iii   
d. i, ii, iii  e. Answer not known 
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Nghghy; tp~;thA tpgj;J Fwpj;j $w;Wfspy; rhpahdJ vJ?  
i. ,J 1984> brk;gh; 3-y; eilngw;wJ.  
ii. ,e;j njhopw;rhiyapd; ngah; A+dpad; fhh;igL  
iii. ntspapl;l thA kPj;ijy; INrhiraidLfs;  
a. i, ii    b. ii, iii   c. i, iii   
d. i, ii, iii   e. tpil njhpatpy;iy 
 

56. Consider the following statements  
1. Big Bang Theory is also called expanding Universe hypothesis 
2. Edwin Hubble provided the evidence that universe is expanding. 
a. 1 alone is correct  b. 2 alone is correct  c. Both are correct  
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfisf; fUJf. 
1. ngUntbg;Gf; nfhs;if gpugQ;r tphpthf;ff; Nfhl;ghL vd;Wk; miof;fg;gLfpwJ. 
2. vl;tpd; `g;gps; gpugQ;rk; tphptilfpwJ vd;gjw;fhd Mjhuq;fis toq;fpdhu;. 
a. 1 kl;Lk; rhp  b. 2 kl;Lk; rhp  c. ,uz;Lk; rhp   
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
 

57. Consider the following statements 
1. A star has its own light and heat. 
2. The nearest star to earth is the sun. 
3. Sirius is brighter star than the sun. 
4. Proxima centauri is the closest star to the sun. 
a. 2, 3, 4 are correct  b. 1, 2, 3 are correct  c. 1, 2, 4 are correct   
d. all are correct  e. Answer not known 
gpd;tUk; $w;Wfisf; fUJf. 
1. xU el;rj;jpuj;jpw;F Rakhd ntspr;rk; kw;Wk; ntg;gk; cs;sJ. 
2. G+kpf;F kpf mUfpy; cs;s tPz;kPd; #hpad;. 
3. #hpaid tpl kpfg; gpufhrkhd tpz;kPd; rphpa]; MFk;.  
4. #hpaDf;F kpf mUfpy; cs;s tpz;kPd; gpuhf;]pkh nrz;l;lh;hp MFk;. 
a. 2, 3, 4 rhp   b. 1, 2, 3 rhp   c. 1, 2, 4 rhp     
d. midj;Jk; rhp  e. tpil njhpatpy;iy 
 

58. Which of the following are the planets with no satellites? 
a. Mercury and Venus  b. Mercury and Mars  c. Uranus and Venus 
d. Venus and Pluto   e. Answer not known 
gpd;tUtdtw;Ws Jizf;Nfhs;fs; ,y;yhj fpufq;fs; ahit? 
a. Gjd; kw;Wk; nts;sp  b. Gjd; kw;Wk; nrt;tha; c. ANud]; kw;Wk; nts;sp  
d. nts;sp kw;Wk; GSl;Nlh e. tpil njhpatpy;iy 
 

59. By Mass, Sun is made up of about _____ 
a. 66.6% hydrogen, 31.4% helium and 2% other gases 
b. 74.6% Nitrogen, 23.4% helium and 2% other gases 
c. 70.6% hydrogen, 27.4% helium and 2% other gases 
d. 72.6% hydrogen, 25.4% helium and 2% other gases 
e. Answer not known 
epiwastpy; #hpad; ____ My;  MdJ. 
a. 66.6% i`l;u[d;> 31.4% P̀ypak; kw;Wk; 2% gpw thAf;fs; 
b. 74.6% iel;u[d;> 23.4% P̀ypak; kw;Wk; 2% gpw thAf;fs; 
c. 70.6% i`l;u[d;> 27.4% P̀ypak; kw;Wk; 2% gpw thAf;fs; 
d. 72.6% i`l;u[d;> 25.4% P̀ypak; kw;Wk; 2% gpw thAf;fs; 
e. tpil njhpatpy;iy 
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60. Consider the following 
Assertion: Venus is hotter than Mercury 
Reason: Mercury has an atmosphere which is thicker and almost entirely made of CO2  
a. Both A and R are correct and R explains A. 
b. Both A and R are correct and R does not explain A. 
c. A is correct, R is incorrect 
d. A is wrong, R is correct 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W: nts;sp fpufk; Gjid tpl ntg;gkhdJ. 
fhuzk;: Gjd; fpufk; jbkdhd Kw;wpYk; CO2 My; Md xU tspkz;lyj;ijf; 
nfhz;Ls;sJ. 
a. A kw;Wk; R ,uz;Lk; rhp> kw;Wk; R MdJ A -I tpsf;FfpwJ.         
b. A kw;Wk; R ,uz;Lk; rhp> kw;Wk; R MdJ A-I tpsf;ftpy;iy 
c. A rhp> R jtW 
d. A jtW> R rhp 
e. tpil njhpatpy;iy 
 

61. Which of the following planets have backward rotation? 
a. Uranus and Jupiter  b. Jupiter and Saturn  c. Venus and Uranus 
d. Venus and Mercury  e. Answer not known 
gpd;tUk; ve;jf; Nfhs;fs; gpd;Ndhf;fpa Row;rpiaf; nfhz;bUf;Fk;? 
a. ANud]; kw;Wk; tpahod;  b. tpahod; kw;Wk; rdp  c. nts;sp kw;Wk; ANud]; 
d. nts;sp kw;Wk; Gjd;  e. tpil njhpatpy;iy 
 

62. Consider the following statements 
1. Venus completes one rotation in 224.7 earth days which is the longest day of any 

planet in our solar system. 
2. Venus takes 243 earth days to complete one revolution around the sun. 
a. 1 alone is correct   b. 2 alone is correct  c. Both are correct   
d. Both are wrong   e. Answer not known 
gpd;tUk; $w;Wfisf; fUJf. 
1. nts;sp jdJ xU KOikahd Row;rpf;F 224.7 Gtpehl;fis vLj;Jf;nfhs;fpwJ. ,J 

#hpaf; FLk;gj;jpYs;s kw;w Nfhs;fis tpl kpf ePz;l Row;rp ehl;fs; MFk;. 
2. nts;sp KOikahf #hpaidr; Rw;wp tu 243 Gtpehl;fis vLj;Jf;nfhs;fpwJ. 
a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp  c. ,uz;Lk; rhp   
d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 
 

63. The earth is a unique planet because of 
1. Its motions 
2. Atmosphere with oxygen 
3. Presence of water 
4. Distance from the sun 
a. 1, 2, 3 are correct   b. 2, 3 are correct  c. 2, 3, 4 are correct   
d. all are correct   e. Answer not known 
G+kp xU jdpj;Jtkhd Nfhs;> Vndd;why;  
1. mjd; ,af;fk; 
2. Mf;]p[Dld; $ba tspkz;lyk; 
3. jz;zPhpd; ,Ug;G 
4. #hpadplkpUe;J mjd; njhiyT 
a. 1>2>3 rhp    b. 2>3 rhp   c. 2>3>4 rhp    
d. midj;Jk; rhp   e. tpil njhpatpy;iy 
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64. Consider the following 
Assertion: Saturn may float on water. 
Reason: Average density of Saturn is less than water. 
a. Both A and R are correct and R explains A. 
b. Both A and R are correct and R does not explain A. 
c. A is correct, R is incorrect 
d. A is wrong, R is correct 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): rdpf; fpufk; ePhpy; kpjf;ff;$Lk;. 
fhuzk; (R): rdpf;fpufj;jpd; ruhrhp mlh;j;jp ePiutplf; FiwT MFk;. 
a. A kw;Wk; R ,uz;Lk; rhp> kw;Wk; R MdJ A -I tpsf;FfpwJ.         
b. A kw;Wk; R ,uz;Lk; rhp> kw;Wk; R MdJ A-I tpsf;ftpy;iy 
c. A rhp> R jtW 
d. A jtW> R rhp 
e. tpil njhpatpy;iy 
 

65. Consider the following 
Assertion (A): Man weighs 6 times less on the moon than on the earth. 
Reason (R): Moon has 1/6 of the gravitational pull of the earth. 
a. Both A and R are correct and R explains A. 
b. Both A and R are correct and R does not explain A. 
c. A is correct, R is incorrect 
d. A is wrong, R is correct 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): kdpjd; G+kpapypUg;gij tpl epytpy; 6 klq;F Fiwthd vilAld; 
fhzg;gLfpwhd; 
fhuzk; (R): epytpd; <h;g;G tpir Gtpapd; <h;g;G tpiriag; Nghd;W 1/6 klq;F MFk;. 
a. A kw;Wk; R ,uz;Lk; rhp> kw;Wk; R MdJ A -I tpsf;FfpwJ.         
b. A kw;Wk; R ,uz;Lk; rhp> kw;Wk; R MdJ A-I tpsf;ftpy;iy 
c. A rhp> R jtW 
d. A jtW> R rhp 
e. tpil njhpatpy;iy 
 

66. Consider the following statements about the Earth 
1. The greatest velocity of rotation is found at the equator. 
2. The velocity of rotation at poles is zero. 
3. The velocity of rotation at the equator is 1670 kmph. 
a. 1, 2 are correct   b. 2, 3 alone is correct  c. 1, 3 are correct  
d. all are correct   e. Answer not known 
Gtpiag; gw;wpa fPo;f;fhZk; $w;Wfisf; fUJf. 
1. Row;rpapd; mjpfgl;r Ntfk; G+kj;jpa Nuifg; gFjpapy; fhzg;gLfpwJ. 
2. JUtg; gFjpfspy; Row;rpj; jpirNtfk; G+[;[pak; MFk;. 
3. G+kj;jpa Nuifg;gFjpapy; Row;rpj; jpirNtfk; 1670 fp.kP/kzp MFk;. 
a. 1> 2 rhp    b. 2> 3 kl;Lk; rhp   c. 1> 3 rhp   
d. midj;Jk; rhp   e. tpil njhpatpy;iy 
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67. How many pairs are correctly matched 
1. March 21  - Spring equinox 
2. September 23 - Autumnal equinox 
3. June 21  - Summer solstice 
4. December 22 - Winter solstice 
a. One pair   b. Two pairs   c. Three pairs   
d. Four pairs   e. Answer not known 
gpd;tUtdtw;Ws; vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
1. khh;r; 21  - tre;j fhy njhlf;fk; 
2. nrg;lk;gh; 23 - ,iyAjph;fhy njhlf;fk; 
3. [_d; 21  - Nfhilf;fhy fjph; jpUg;gk; 
4. brk;gh; 22  - Fsph;fhy fjph; jpUg;gk; 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs;   
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

68. Match the following 
Discontinuity   Layers of earth 
A. Conrad    1. Upper and lower mantle 
B. Mohorovicic   2. Outer and inner core 
C. Guttenberg   3. Lower mantle and outer core 
D. Lehman    4. Lower crust and upper mantle 
E. Repiti    5. Upper crust and lower crust 
 A B C D E 
a. 5 4 3 2 1 
b. 5 4 2 1 3 
c. 4 5 3 1 2 
d. 1 2 3 4 5 
e. Answer not known 
nghUj;J 
,ilg;gl;l vy;iy  G+kpapd; mLf;Fs; 
A. Nfhd;uhl; 1.ntspf; ftrj;jpw;Fk; cl;ftrj;jpw;Fk; ,ilg;gl;l vy;iy 
B. nkhNfhNuhtprpf; 2. ntspf;fUtpw;Fk; cl;fUtpw;Fk; ,ilg;gl;l vy;iy 
C. Fl;ld;ngu;f; 3. cl;ftrj;jpw;Fk; ntspf;fUtpw;Fk; ,ilg;gl;l vy;iy 
D. ny`;Nkd; vy;iy 4. fPo; NkNyhl;bw;Fk; ntsp ftrj;jpw;Fk; ,ilg;gl;l vy;iy 
E. nugpb 5. ntsp NkNyhl;bw;Fk; fPo; NkNyhl;bw;Fk; ,ilg;gl;l vy;iy 
 A B C D E 
a. 5 4 3 2 1 
b. 5 4 2 1 3 
c. 4 5 3 1 2 
d. 1 2 3 4 5 
e. tpil njhpatpy;iy 
 

69. Asthenosphere is present in ____ 
a. Lower crust  b. Upper mantle   c. Lower mantle   
d. Outer core   e. Answer not known 
m];jpNdh];gpau; mike;Js;s gFjp _____. 
a. fPo; NkNyhL  b. Nky;ftrk;   c. fPo;ftrk;  
d. ntspf;fU   e. tpil njhpatpy;iy 
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70. Continental Drift theory was postulated by ___ in ____. 
a. Alfred Wegener, 1910 b. Alfred Wegener, 1912  c. Karl Pearson, 1910  
d. Karl Pearson, 1912 e. Answer not known 
fz;lefu;T Nfhl;ghL _____ My; _____ y; nrhy;yg;gl;lJ. 
a. My;gu;l; ntf;du;> 1910 b. My;gu;l; ntf;du;> 1912  c. fhuy; gpau;rd;> 1910  
d. fhuy; gpau;rd;> 1912 e. tpil njhpatpy;iy 
 

71. Match the following: 
Volcano    Place 
A. Cotopaxi    1. Italy 
B. Mount Etna   2. Ecuador 
C. Mt. Fujiyama   3. Japan 
D. Popa    4. Philippines 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 4 3 2 1 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf. 
vupkiy    ,lk; 
A. nfhl;lghf;]p vhpkiy 1. ,j;jhyp 
B. vl;dh vhpkiy   2. <f;tlhu;       
C. gpA+[pahkh vupkiy  3. [g;ghd; 
D. Nghg;gh    4. gpypg;igd;]; 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 4 3 2 1 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 

72. The Grand Canyon of India is situated on the ____ river. 
a. Krishna  b. Pennar   c. Ganga   
d. Godavari  e. Answer not known 
,e;jpahtpd; kpfg; ngupa gs;sj;jhf;F ____ Mw;wpy; mike;Js;sJ? 
a. fpU~;zh  b. ngz;zhW   c. fq;fh   
d. Nfhjhtup  e. tpil njhpatpy;iy 
 

73. The Canyon of ___ is known as Grand Canyon of India 
a. Gandikota   b. Narmada     c. Tapti   
d. None of the above e. Answer not known 
ve;j gs;sj;jhf;F ,e;jpahtpd; kpfg; ngupa gs;sj;jhf;F vd;W miof;fg;gLfpwJ. 
a. fz;bf;Nfhl;lh  b. eu;kjh    c. jgjp    
d. Nkw;fz;l vJTkpy;iy e. tpil njhpatpy;iy 
 

74. Find the odd one out 
a. Ox-bow lake  b. Estuary    c. Delta  
d. Canyon   e. Answer not known 
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nghUe;jhj xd;iwj; Njh;e;njLf;f 
a. Fjpiuf; Fsk;G Vup  b. fopKfk;    c. nly;lh    
d. FWfpa gs;sj;jhf;F e. tpil njhpatpy;iy 
 

75. Which of the following are erosional landforms of Glaciers? 
I. U-shaped valley  II. Hanging valley 
III. Cirque and Tarn  IV. Aretes 

 a. I, II    b. I, III    c. II, III, IV   
d. all of the above  e. Answer not known 
gdpahW mupj;jyhy; cUthFk; epyj;Njhw;wq;fs; ahit? 
I. ‘U’ tbtg; gs;sj;jhf;F 
II. njhq;Fg; gs;sj;jhf;F  
III. ru;f;F kw;Wk; lhu;d;  
IV. nrq;Fj;J KfLfs; 
a. I, II    b. I, III    c. II, III, IV   
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
76. Which of the following are erosional landforms due to Groundwater? 

I. Sinkholes  II. Doline  III. Lappies 
IV. Uvala  V. Polje 
a. I, II, III   b. II, III, IV   c. I, II, III, IV   
d. all of the above  e. Answer not known 
gpd;tUtdtw;Ws; vit epyj;jb ePu; mupj;jyhy; cUthf;fg;gLk; epyj;Njhw;wq;fs; 
I. cwpQ;rpj;Jis  II. Nlhypd;  III. Nyg;gP]; 
IV. Athyh   V. Nghy;N[ 
a. I, II, III   b. II, III, IV   c. I, II, III, IV  
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
 

77. Pick the odd one out 
a. Mushroom rock   b. Yardang   c. Zeugen   
d. Loess   e. Answer not known 
nghUe;jhj xd;iwj; Nju;e;njLf;f. 
a. fhshd; ghiw  b. ahu;lq;   c. rpA+fd;  
d. fhw;wb tz;ly;  e. tpil njhpatpy;iy 
 

78. Rameshwaram is an example of ____ type of wave landform. 
a. Tombolo    b. Spit     c. The Bar   
d. Beach    e. Answer not known 
uhNk];tuk; ___ tif miy epygug;gpw;fhd vLj;Jf;fhl;L  
a. jPTr;ruis ,izg;ghij  b. ePz;l kzy; jpl;L   c. kzw;jpl;Lfs;  
d. flw;fiu    e. tpil njhpatpy;iy  

 
79. Oasis is related with _____ 

a. Glacial landform   b. Karst Topograph   c. Desert landform 
 d. Coastal landform   e. Answer not known 

ghiytdr;Nrhiy ve;j epyg;gug;NghL njhlu;GilaJ ______. 
a. gdpahW epyj;Njhw;wk;   b. Rz;zhk;Gg; ghiw epyj;Njhw;wk; 
c. ghiytd epyj;Njhw;wk;   d. flw;fiu epyj;Njhw;wk; 
e. tpil njhpatpy;iy 
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80. ____ is a bar connecting Island with coast 
a. Spit  b. Bar  c. Tombolo  d. Beach e. Answer not known 
jPit flw;fiuAld; ,izf;Fk; gFjp _____. 
a. ePz;l kzy;jpl;L  b. kzy;jpl;L   c. jPTr;ruis ,izg;ghij  
d. flw;fiu   e. tpil njhpatpy;iy 
 

81. Surface water includes _____ 
I) Ice and snow on land only 
II) Ice and snow on land and sea 
III) Water in lakes, rivers 
IV) Moisture in soil, atmosphere and biosphere 
a. I, III, IV  b. II, III, IV    c. II, III   
d. I, III   e. Answer not known 
Nkw;gug;G ePu; vtw;iwnay;yhk; cs;slf;fpaJ. 
I. epyj;jpy; cs;s gdpf;fl;b kw;Wk; gdp%l;lk; kl;Lk;. 
II. epyj;jpy; flypYk; cs;s gdpf;fl;b kw;Wk; gdp%l;lk; kl;Lk;. 
III. MWfspYk;> VupfspYk; cs;s jz;zPu;. 
IV. kz;> tspkz;lyk; kw;Wk; capu;f;Nfhsj;jpy; cs;s <ug;gjk;. 
a. I, III, IV  b. II, III, IV    c. II, III  
d. I, III   e. tpil njhpatpy;iy 
 

82. Consider the following statements. 
I. Rann of Kutch is a salt water marsh. 
II. Pallikaranai wetland is a fresh water swamp. 
a. I alone is correct  b. II alone is correct   c. Both are correct   
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfisf; fUJf. 
I. fl;r; tisFlh xU cg;G ePu; rJg;G epykhFk;. 
II. gs;spf;fuiz <uepyk; xU ed;dPu; rJg;G epykhFk;. 
a. I kl;Lk; rup  b. II kl;Lk; rhp   c. ,uz;Lk; rup   
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
 

83. World’s famous fishing grounds are located in ____ 
a. Continental shelf   b. Continental slope  c. Continental rise   
d. Abyssal plain   e. Answer not known 
cyfpd; Gfo;ngw;w kPd;gpb jsq;fs; _____ y; mike;Js;sJ. 
a. fz;lj; jpl;L   b. fz;lr; rupT  c. fz;l cau;T   
d. flybr; rkntsp   e. tpil njhpatpy;iy 
 

84. ____ is the deepest part of Indian ocean. 
a. Kurile Trench   b. Aldrich Trench  c. Sunda trench   
d. None of the above  e. Answer not known 
____ ,e;jpag; ngUq;flypd; Mokhd gFjp. 
a. Fupy; mfop   b. my;l;upr; mfop  c. Rz;lh mfop   
d. Nkw;fz;l vJTkpy;iy  e. tpil njhpatpy;iy 
 

85. Ocean salinity is maximum ____ 

a. at the equator   b. between 20and 40 N  c.  between 20 and 40 S  
d. at the Poles  e. Answer not known 
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ngUq;flypd; ctu;g;gpak; ____y; mjpfkhf ,Uf;Fk;. 

a. G+kj;jpa Nuifapy;  b. 20ypUe;J 40 tlf;F tiu  

c. 20 ypUe;J 40njw;F tiu d. JUtq;fspy; 
e. tpil njhpatpy;iy 
 

86. Consider the following statements 
I. The highest high tide is known as spring tide. 
II. The lowest low tide is known as Neap tide. 
III. The highest high tide occurs on full moon day and new moon day. 
a. III alone is correct   b. I and II are correct c. I and III are correct  
d. All are correct   e. Answer not known 
nfhLf;fg;gl;Ls;s thf;fpaq;fis ftdj;jpy; nfhs;f. 
I. kpf caukhd Xjq;fs; kpjit Xjk; vdg;gLk;. 
II. kpfj; jho;thd Xjq;fs; jho;kl;l Xjq;fs; vdg;gLk;. 
III. caukhd Xjq;fs; KO epyT ehsd;Wk; mkhthir md;Wk; Vw;gLfpwJ. 
a. III kl;Lk; rup   b. I kw;Wk; II rup  c. I kw;Wk; III rup   
d. midj;Jk; rup   e. tpil njhpatpy;iy 
 

87. How many pairs are correctly matched 
I) Kuroshio current  - Cold current 
II) Oyashio current  - Warm current 
III) California current  - Cold current 
IV) Peru current   - Cold current 
a. One pair   b. Two pairs   c. Three pairs   
d. Four pairs   e. Answer not known 
gpd;tUtdtw;Ws; vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
I. FNuh~pNah ePNuhl;lk; - Fspu; ePNuhl;lk; 
II. xah~pNah ePNuhl;lk;  - ntg;g ePNuhl;lk; 
III. fyp/Nghu;dpah ePNuhl;lk; - Fspu; ePNuhl;lk; 
IV. ngU ePNuhl;lk;  - Fspu; ePNuhl;lk; 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs;  
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

88. Ozonosphere is present in ____ 
a. Troposphere  b. Upper Stratosphere  c. lower stratosphere  
d. Mesosphere  e. Answer not known 
XNrhd; mLf;F vq;F mike;Js;sJ? 
a. mbaLf;F   b. Nky; gilaLf;F   c. fPo; gilaLf;F   
d. ,ilaLf;F   e. tpil njhpatpy;iy 
 

89. Ozone hole is formed in Antarctic Stratospheric layer due to the presence of ____ 
a. Polar Stratospheric Clouds b. water vapour  c. Methane     
d. Co2     e. Answer not known 
XNrhd; Jisahy; mz;lhu;bf;fhtpd; XNrhd; mLf;F fLikahf ghjpf;fg;gLtjw;Ff; 
fhuzk; _____. 
a. JUt gilaLf;F Nkfq;fs;  b. ePuhtp   c. kPj;Njd;    
d. Co2     e. tpil njhpatpy;iy 
 

90. Sea level atmospheric pressure is ____ 
a. 1013 mb  b. 1013.25 mb   c. 1014 mb   
d. 1014.25 mb e. Answer not known 
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fly;kl;lj;jpy; tspkz;ly mOj;jk; ____. 
a. 1013 mb  b. 1013.25 mb   c. 1014 mb   
d. 1014.25 mb e. tpil njhpatpy;iy 
 

91. The average annual rainfall of Mawsynram is ____ 
a. 11, 861cm   b. 11,861 mm    c. 12,861 cm  
d. 12,861 mm   e. Answer not known 
nksrpd;uhk; ruhrup kiog;nghopT _____. 
a. 11>861 nr.kP  b. 11>861 kp.kP    c. 12>861 nr.kP  
d. 12>861 kp.kP   e. tpil njhpatpy;iy 
 

92. Choose incorrect pair 
a. Karaburan - central Africa 
b. Khamsin  - Mediterranean 
c. Loo  - Plain of India and Pakistan 
d. Mistral  - France 
e. Answer not known 
jtwhd ,iziaj; Nju;e;njLf. 
a. fhuG+ud;  - kj;jpa Mg;upf;fh 
b. fhk;rpd;  - kj;jpa jiuf;fly; 
c. Y}   - ,e;jpah kw;Wk; ghfp];jhdpd; rkntspfs; 
d. kp];l;uy;  - /gpuhd;]; 
e. tpil njhpatpy;iy 
 

93. Consider the following statements regarding jet streams. 
I) It creates impact on intensity of Southwest monsoon rainfall. 
II) It helps in development of super cyclone. 
III) Brings rainfall to India by western disturbance 
IV) Helps in onset of North east Monsoon 
a. I, II are correct  b. II, IIII are correct  c. I, II, III are correct   
d. all are correct  e. Answer not known 
n[l; fhw;W njhlu;ghd gpd;tUk; thf;fpaq;fis ftdj;jpy; nfhs;f. 
I. n[l; fhw;wpd; tUif njd; Nkw;F gUtf;fhw;W kioapd; jPtpuj;ijj; J}z;LfpwJ. 
II. mjpNtf #whtspapd; tsu;r;rpf;F cjTfpwJ. 
III. Nkw;fj;jpa ,ilA+W fhw;Wfshy; ,e;jpahtpw;F kioiaf; nfhz;L tUjy;. 
IV. tlfpof;F gUtkio njhlq;f cjTfpwJ. 
a. I, II rup   b. II, III rup   c. I, II, III rup     
d. midj;Jk; rup  e. tpil njhpatpy;iy 
 

94. Consider the following statements 
I) When temperature increases, relative humidity increases 
II) When absolute humidity increases, relative humidity decreases. 
a. I only is correct   b. II only is correct   c. Both are correct  
d. Both are wrong   e. Answer not known 
fPo;fhZk; thf;fpaq;fis ftdj;jpy; nfhs;f. 
I. ntg;gepiy caUk; NghJ rhu;G <ug;gjj;jpd; msT mjpfupf;Fk;. 
II. jdpepiy <ug;gjj;jpd; msT mjpfupf;Fk; NghJ rhu;G <ug;gjk; FiwAk;. 
a. I kl;Lk; rhp   b. II kl;Lk; rhp   c. ,uz;Lk; rhp  
d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 
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95. Conventional rainfall occurs in ____ 
a. equator region only  b. continental interiors at middle latitude 
c. Both a and b   d. None of these 
e. Answer not known 
ntg;gr;ryd kio vq;F Vw;gLk;? 
a. G+kj;jpa Nuifg; gFjp 
b. kj;jpa ml;rNuif gFjpapy; cs;s fz;lq;fspd; cl;gFjpfspy; 
c. a kw;Wk; b ,uz;Lk; 
d. ,it VJkpy;iy 
e. tpil njhpatpy;iy 
 

96. Convectional rainfall is also called as ____ 
a. 4’O’ clock rainfall   b. Orographic rainfall  c. Frontal rainfall  
d. Relief rainfall   e. Answer not known 
ntg;gr;ryd kio ____ vd;Wk; miof;fg;gLfpwJ. 

a. 4 kzp kiog;nghopT  b. kiyj;jil kio  c. tspKf kiog;nghopT  
d. epyj;Njhw;w kiog;nghopT e. tpil njhpatpy;iy 
 

97. Choose incorrect pair regarding windspeed of cyclone  
a. Tropical cyclone – 62 to 88 kmph 
b. Very severe cyclonic storm – 89 to 118 kmph 
c. Super cyclone – greater than 221 kmph 
d. Tropical depression – 31 to 61 kmph 
e. Answer not known 
Gaypd; fhw;W Ntfk; njhlu;ghd ,tw;wpy; jtwhd ,iziaj; Njue;njLf. 
a. ntg;gkz;ly #whtsp  - 62 to 88 kmph 
b. mjpNtfg; Gay;   - 89 to 118 kmph 
c. kpf kpf mjpNtfg; Gay; - 221 kmph f;Fk; mjpfk; 
d. ntg;gkz;ly jho;tOj;jg;gFjp - 31 to 61 kmph 
e. tpil njhpatpy;iy 

 
98. The eye of the Tropical cyclone is a calm region with ____ 

a. minimum rainfall and highest temperature 
b. no rainfall and lowest pressure 
c. no rainfall and highest pressure 
d. maximum rainfall and lowest pressure 
e. Answer not known 
#whtspapd; fz; vd;gJ xU mikjpahd gFjpahFk;. mjw;F fPOs;s ve;j jd;ik 
nghUe;Jk;? 
a. Fiwe;j kiog;nghoT kw;Wk; mjpf ntg;gepiy 
b. Fiwe;j mOj;jk; nfhz;l kiog;nghoptpy;yhj gFjp 
c. mjpf mOj;jk; nfhz;l kiog;nghoptpy;yhj gFjp 
d. mjpf kiog;nghopT kw;Wk; Fiwe;j mOj;jk; 
e. tpil njhpatpy;iy 

 
99. Naming of the Tropical cyclone that develops in the Indian ocean began in ____ 

a. 2000  b. 2002 c. 2003  d. 2004 e. Answer not known 
,e;jpag; ngUq;flypy; Vw;gLk; Gay;fSf;F ngaupLk; tof;fk; _____ Mz;L njhlq;fpaJ.  
a. 2000  b. 2002 c. 2003  d. 2004 e. tpil njhpatpy;iy 
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100. Consider the following statements 
I) Cyclone rotates clockwise in Northern Hemisphere 
II) Anticyclone rotates Anti clockwise in northern hemisphere 
a. I only is correct  b. II only is correct   c. Both are correct   
d. Both are wrong  e. Answer not known 
fPo;fhZk; thf;fpaq;fis ftdj;jpy; nfhs;f 
I. #whtspapd; Row;rp tl miuNfhsj;jpy; fbfhu jpirapy; ,Uf;Fk;. 
II. vjpu; #whtspapd; Row;rp tl miuNfhsj;jpy; vjpu; fbfhu jpirapy; ,Uf;Fk;. 
a. I kl;Lk; rhp  b. II kl;Lk; rhp   c. ,uz;Lk; rhp   
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
 

101. Which of the following are natural decomposers? 
I. Fungi   II. Bacteria  III. Mushroom 
a. I alone  b. I, II    c. II alone   
d. I, II, III  e. Answer not known 
,tw;wpy; vit ,aw;if rpijg;Nghu;fs; 
I. G+Q;ir   II. ghf;Bupah  III. fhshd; 
a. I kl;Lk;  b. I, II  c. II kl;Lk; d. I, II, III e. tpil njhpatpy;iy 
 

102. The optimum temperature required for coral growth is _____ Celsius 

a. 20 - 25  b. 23 - 29   c. 25 - 30   

d. 30 - 35  e. Answer not known 
flw;gtsq;fs; tsu;tjw;F cfe;j ntg;g epiy ____ MFk;. 

a. 20 - 25  b. 23 - 29   c. 25 - 30   

d. 30 - 35  e. tpil njhpatpy;iy 
 

103. The Mangrove forests of Tamil Nadu are formed in ____. 
I. Pichavaram  II. Muthupet   III. Ramnad 
IV. Gulf of Mannar  V. Punnakayal 
a. I, II, IV   b. I, II, V   c. I, II, IV, V   
d. All of these  e. Answer not known 
jkpo;ehl;by; rJg;Gepyf; fhLfs; vq;F cs;sd? 
I. gpr;rhtuk;   II. Kj;Jg;Ngl;il  III. ukehjGuk; 
IV. kd;dhu;tisFlh  V. Gd;idf;fhay; 
a. I, II, IV   b. I, II, V   c. I, II, IV, V   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

104. Match the following 
Temperate Grassland  Places 
A. Steppes    1. South America 
B. Prairies    2. Australia 
C. Pampas    3. North America 
D. Downs    4. Europe and Asia 

A B C D 
a. 4 3 1 2 
b. 4 3 2 1 
c. 3 4 1 2 
d.  1 2 3 4 
e. Answer not known 
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nghUj;Jf. 
kpjntg;gkz;lyg; Gy;ntsp  ,lk; 

 A. ];nlg;gP    1. njd; mnkupf;fh 
 B. gpnua;up    2. M];jpNuypah 
 C. ghk;gh];    3. tl mnkhpf;fh 
 D. nlsd;];    4. INuhg;gh kw;Wk; Mrpah 

A B C D 
a. 4 3 1 2 
b. 4 3 2 1 
c. 3 4 1 2 
d.  1 2 3 4 
e. tpil njhpatpy;iy 
 

105. Who coined the term Biodiversity hotspot? 
a. E.O. Wilson  b. F. Dasmann  c. Norman Myer  
d. Charles Elton  e. Answer not known 
capupdg; gd;ik ts ikaq;fs; vd;fpw thu;j;ijia cUthf;fpaJ ahu;? 
a. ,.X.tpy;rd;  b. vg;. lh];Nkd;  c. ehu;kd; ikau;    
d. rhh;y]; vy;ld;  e. tpil njhpatpy;iy 
 

106. To qualify as Bio-diversity hotspot, which of the following criteria must be needed? 
I) It must contain atleast 1500 species of endemic plants 
II) It must have lost atleast 70% of its original habitat. 
a. I only   b. II only   c. Both I and II   
d. None of these  e. Answer not known 
Xu; kz;lyk; capupdg; gd;ik tsikakhf fUjg;gLtjw;F vd;ndd;d tpjpfs; 
,Uf;fpd;wd? 
I. Fiwe;jJ 1>500 jdpr;rpwg;G nfhz;l rpw;wpd jhtuq;fisf; nfhz;bUf;f Ntz;Lk;. 
II. mt;tplj;jpw;Nf cupa thopl ,og;G 70% nfhz;ljhf ,Uf;f Ntz;Lk;. 
a. I kl;Lk;   b. II kl;Lk;  c. I kw;Wk; II ,uz;Lk;  
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

107. The Jhansi Rani Marine National Park is present in ____ 
a. Odisha   b. Lakshadweep  c. Andaman and Nicobar Island 
d. Gujarat   e. Answer not known 
[hd;rpuhzp fly;rhu; Njrpa G+q;fh vq;F cs;sJ? 
a. xbrh   b. yl;rj;jPT   c. me;jkhd; kw;Wk; epf;Nfhghu; jPT 
d. F[uhj;   e. tpil njhpatpy;iy 
 

108. Choose incorrect pair 
a. Project Turtle     - 1999 
b. Project Rhinoceros     - 1987 
c. Operation Crocodile    - 1975 
d. Indian Rhino Vision    - 2025 (target year)  
e. Answer not known 
nghUe;jhjtw;iw Nju;e;njLf. 
a. fly; Mikfs; ghJfhg;Gj; jpl;lk;  - 1999 
b. fhz;lhkpUf ghJfhg;Gj; jpl;lk;  - 1987 
c. Kjiyfs; tsu;g;G ,af;fk;   - 1978 
d. ,e;jpa fhz;lhkpUf ghJfhg;Gj; jpl;lk; - 2021 (Fwpf;Nfhs; Mz;L) 
e. tpil njhpatpy;iy 
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109. Match the following  
Districts   Hills 
A. Dharmapuri  1. Sivan hills 
B. Salem   2. Pachaimalai 
C. Erode   3. Vathalmalai 
D. Perambalur  4. Chalk hills 

A B C D 
a. 2 1 4 3  
b. 4 3 2 1 
c. 1 2 3 4  
d. 3 4 1 2  
e. Answer not known 
nghUj;Jf: 
khtl;lq;fs;   kiyfs; 
A. jUkGhp   1. rptd; kiy 
B. Nryk;   2. gr;ir kiy 
C. <NuhL   3. tj;jy; kiy 
D. nguk;gY}h;   4. Rz;zhk;Gf; Fd;Wfs; 

A B C D 
a. 2 1 4 3  
b. 4 3 2 1 
c. 1 2 3 4  
d. 3 4 1 2 
e. tpil njhpatpy;iy  
 

110. Find out the correct statements about Tamilnadu 
1. The landmass of Tamil Nadu extends from 8º4’N to 13º35’N latitudes and from 

76º18’E to 80º20’E longitudes. 
2. Its Western and Eastern extremities are defined by the Anaimalai Hills and Point 

Calimere. 
3. The northern extremity of the state is marked by Pulicat lake. 
4. The southernmost point is Cape Comorin. 
a. 1, 3, 4 only   b. 2, 4 only   c. 1, 4 only   
d. All are correct  e. Answer not known 
jkpo;ehL gw;wpa rhpahd $w;iw Njh;e;njLf;fTk;. 
1. jkpo;ehl;bd; epyg;gug;G 8º4’N tl ml;rk; Kjy; 13º35’ tl ml;rk; tiuapYk;> 76º18’ 

fpof;F jPh;f;fk; Kjy; 80º20’ fpof;F jPh;f;fk; tiuapYk; gutpAs;sJ. 
2. jkpo;ehl;bd; Nkw;F Nfhbahf MidkiyAk;> fpof;F Nfhbahf Nfhbaf;fiuAk; 

mike;Js;sd. 
3. goNtw;fhL Vhp jkpo;ehl;bd; tlNfhbahf cs;sJ 
4. FkupKid njd; NfhbahfTk; mike;Js;sd. 
a. 1, 3, 4 kl;Lk;  b. 2, 4 kl;Lk;   c. 1, 4 kl;Lk;  
d. midj;Jk; rhp  e. tpil njhpatpy;iy 

 
111. Find out the Incorrect statements. 

1. Gulf of Mannar and Palk strait separate Tamil Nadu from the Island of Srilanka. 
2. Tamil Nadu has 1067 km long coastline which is the second longest in India after 

Gujarat. 
a. 1 only   b. 2 only    c. Both 1 & 2 are incorrect      
d. None of these  e. Answer not known 
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jtwhd $w;iw Njh;e;njLf;fTk;. 
1. kd;dhh; tisFlh kw;Wk; ghf; ePh;r;re;jp jkpo;ehl;ilAk; ,e;jpahtpd; njd;fpof;fpy; 

cs;s ,yq;ifiaAk; gphpf;fpd;wd. 
2. F[uhj;jpw;F mLj;jgbahf jkpo;ehL 1067 fp.kPl;lh; ePsKld; ,e;jpahtpd; ,uz;lhtJ 

ePskhd flw;fiuiaf; nfhz;Ls;sJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;  c. 1 kw;Wk; 2 jtW      
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
112. Find out the odd one regarding Western Ghats? 

a. Perumalmalai  b. Valasamalai  c. Kottaimalai  
d. Pagasura   e. Answer not known 
Nkw;Fj; njhlh;r;rp kiy gw;wpa jtwhd xd;iwf; fz;Lgpbf;fTk;. 
a. ngUkhs;kiy  b. tyrkiy   c. Nfhl;il kiy   
d. gfhRuh   e. tpil njhpatpy;iy 

 
113. Arrange the following peaks of Eastern Ghats in Ascending order based on its height. 

1. Mazhamalai    2. Muganur  
3. Kuttirayan     4. Shervarayan Temple 
a. 4, 3, 2, 1   b. 1, 2, 3, 4   c. 2, 3, 1, 4   
d. 2, 3, 4, 1   e. Answer not known 
gpd;tUk; fpof;Fj;njhlh;r;rp kiyapYs;s rpfuq;fis mjd; cauj;jpd; mbg;gilapy; 
VWthpirg;gLj;jTk;. 
1. kokiy   2. KfD}h;    
3. Fl;buhad;   4. Nrh;tuhad; Nfhtpy;  
a. 4, 3, 2, 1   b. 1, 2, 3, 4   c. 2, 3, 1, 4   
d. 2, 3, 4, 1   e. tpil njhpatpy;iy 

 
114. Find out the Incorrect pair. 

a. Theni  - Kumbakkarai 
b. Coimbatore - Sengupathi 
c. Virudhunagar - Ulakkai 
d. Kanyakumari - Vattaparai 
e. Answer not known 
jtwhd ,izia Njh;e;njL 
a. Njdp  - Fk;gf;fiu 
b. Nfhak;Gj;J}h; - nrq;Fgjp 
c. tpUJefh;  - cyf;if 
d. fd;dpahFkhp - tl;lg;ghiw 
e. tpil njhpatpy;iy 

 
115. In which year the Vainu Bappu observatory located in Kavalur began its operations? 

a. 1957   b. 1976   c. 1975   
d. 1967   e. Answer not known 
ve;j Mz;L fhtY}h; thdtpay; njhiyNehf;fp ikak; nray;ghLfs; njhlq;fpaJ? 
a. 1957   b. 1976   c. 1975   
d. 1967   e. tpil njhpatpy;iy 

 
116. Match the following  

A. Kanjirankulam Birds Sanctuary  1. Thiruvarur 
B. Udayamarthandapuram Birds Sanctuary 2. Villupuram 
C. Karikilli Birds Sanctuary   3. Ramanathapuram 
D. Oussudu Lake Birds Sanctuary  4. Kanchipuram 
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 A B C D 
a. 2 4 3 1  
b. 4 3 1 2  
c. 3 1 4 2  
d. 4 3 2 1 
e. Answer not known  
nghUj;Jf: 
A. fQ;rpuq;Fsk; gwitfs; ruzhyak;   1. jpUth&h; 
B. cjakhh;j;jhz;lGuk; gwitfs; ruzhyak;  2. tpOg;Guk; 
C. fupf;fpsp gwitfs; ruzhyak;    3. ,uhkehjGuk; 
D. CRL Vhp gwitfs; ruzhyak;   4. fhQ;rpGuk; 
 A B C D 
a. 2 4 3 1  
b. 4 3 1 2  
c. 3 1 4 2  
d. 4 3 2 1 
e. tpil njhpatpy;iy  

 
117. Which river separates the Coimbatore plateau from the Mysore plateau? 

a. Bhavani  b. Moyar   c. Noyyal   
d. Amaravati  e. Answer not known 
fPo;fhZk;; ve;j MW ik#h; gPlG+kpapypUe;J Nfhak;Gj;J}h; gPlG+kpiag; gphpf;fpwJ. 
a. gthdp  b. Nkhahh;   c. neha;ay;   
d. mkuhtjp  e. tpil njhpatpy;iy 

 
118. Find out the Incorrect statements about Kolli Hills? 

1. It has the largest cover of evergreen or Shola forest. 
2. Arpaleeswarar temple located on this range. 
3. This mountain range that runs almost parallel to the west coast of South India. 
4. Jack fruit is a popular seasonal agricultural product of Kolli Hills. 

a. 1, 3 only  b. 2 only    c. 3, 4 only   
d. 1, 2, 3, 4  e. Answer not known 
nfhy;yp kiy gw;wpa jtwhd $w;iw Njh;e;njLf;fTk; 
1. gRikkhwh fhLfs; my;yJ Nrhiy fhLfs; mjpfk; fhzg;gLfpd;wd. 
2. mug;gsP];tuh; Nfhtpy; ,e;j kiyj;njhlhpy; mike;Js;s Kf;fpakhd Gdpjj; 

jykhFk;. 
3. njd;dpe;jpahtpd; Nkw;F flw;fiuf;F ,izahfr; nry;fpwJ. 
4. ,k;kiyapy; gyhg;gok; xU Fwpg;gplj;jf;f Ntshz; gUt tpiy nghUshf cs;sJ. 

a. 1, 3 kl;Lk;  b. 2 kl;Lk;    c. 3, 4 kl;Lk;   
d. 1, 2, 3, 4  e. tpil njhpatpy;iy 

 
119. Which one of the following is not the major island of Tamil Nadu? 

a. Hare Island   b. Bhavani Island  c. Quibble Island   
d. krusadai Island   e. Answer not known  
gpd;tUtdtw;Ws; vit jkpo;ehl;bd; Kf;fpa jPTfs; fpilahJ? 
a. Kay;jPT    b. gthdp jPT   c. Ftpg;gpy; jPT   
d. FUril jPT   e. tpil njhpatpy;iy 
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120. Find out the correct statements. 
1. The sand dunes formed along the coast of Nagapattinam and Thoothukudi districts 

are called Teri. 
2. Coral rocks are found at the head of Gulf of Mannar in the east coastal plain. 

a. 1 only    b. 2 only   c. Both 1 & 2 are correct       
d. None of these   e. Answer not known 
rhpahd $w;iw Njh;e;njLf;fTk;. 
1. ehfgl;bdk; kw;Wk; J}j;Jf;Fb khtl;lq;fspy; flw;fiuNahuq;fspy; cUthf;fg;gl;l 

kzy; Fd;Wfs; ‘Njhp’ vd;W miof;fg;gLfpwJ. 
2. fpof;Ff; flw;fiur; rkntspg; gFjpapy; cs;s kd;dhh; tisFlhtpy; gtsg;ghiwfs; 

fhzg;gLfpd;wd. 
a. 1 kl;Lk;    b. 2 kl;Lk;   c. 1 kw;Wk; 2 rhp      
d. vJTkpy;iy   e. tpil njhpatpy;iy 

 
121. Match the following  

Rivers    Tributaries 
A. Palar   1. Pambar 
B. Thamirabarani  2. Siruliar 
C. Then Pennaiyar  3. Kiliyar 
D. Vaigai   4. Chittar 
 A B C D 
a. 3 4 1 2  
b. 4 2 1 3  
c. 2 3 1 4  
d. 3 4 2 1  
e. Answer not known 
nghUj;Jf  

MWfs;   Jiz MWfs; 
A. ghyhW   1. ghk;gd; MW 
B. jhkpuguzp   2. RUsp MW 
C. njd;ngz;izahW 3. fpspahW 
D. itif   4. rpw;whW 
 A B C D 
a. 3 4 1 2  
b. 4 2 1 3  
c. 2 3 1 4  
d. 3 4 2 1 
e. tpil njhpatpy;iy  

 
122. Find out the Incorrect pair. 

a. Red soil  - Sandy & loamy 
b. Black soil  - Fine textured & clayey 
c. Laterite soil - Porous & loamy 
d. None 
e. Answer not known 
jtwhd ,izia Njh;e;njLf;fTk;. 
a. nrk;kz;  - kzy; kw;Wk; fspkz; 
b. fupry; kz;  - kpf Ez;zpa Jfs;fisf; nfhz;l fsp kz; 
c. ruis kz; - Ez;Jisfs; kw;Wk; fspkz; fye;j kz; 
d. vJTkpy;iy 
e. tpil njhpatpy;iy 
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123. Find out the correct statements about northeast monsoon wind. 
1. Coastal districts of TN get nearly 60% of their annual rainfall. 
2. The interior districts of TN get about 40 – 50% of annual rainfall. 
3. East coast region receives 100 to 200 cm of rainfall. 
4. The rainfall received by the central & northwestern part is 50 – 100 cm. 
a. 1, 3 only  b. 2, 4 only   c. 1, 3, 4 only  
d. 1, 2, 3, 4  e. Answer not known 
tlfpof;F gUtf;fhw;W njhlh;ghd rhpahd $w;iw Njh;e;njLf;fTk;  

1. flw;fiu khtl;lq;fs; 60 rjtPjKk;. 
2. cs;khtl;lq;fs; 40 Kjy; 50 rjtPjk; tiuapyhd tUlhe;jpu kioiaAk; ngWfpd;wd. 
3. fpof;F flw;fiug; gFjpfs; 100 Kjy; 200 nr.kP tiu kioiag; ngWfpd;wd. 
4. kj;jpa kw;Wk; tlNkw;F jkpofk; 50 Kjy; 100 nr.kP tiu kioiag; ngWfpd;wd. 
a. 1, 3 kl;Lk;  b. 2, 4 kl;Lk;   c. 1, 3, 4 kl;Lk;  
d. 1, 2, 3, 4  e. tpil njhpatpy;iy 

 
124. Match the following  

Earthquake in TN    Years 
A. Puducherry     1. 2011 
B. Cauvery basin in Ariyalur district  2. 2012 
C. Palar valley region in TN   3. 2008 
D. Chennai      4. 2001 
 A B C D 
a. 3 2 1 4 
b. 4 1 3 2  
c. 2 3 4 1  
d. 1 4 2 3 
e. Answer not known  
nghUj;Jf 

jkpofj;jpy; epyeLf;fk;   Mz;Lfs;  
A. GJr;Nrhp      1. 2011 
B. mhpaY}h; khtl;lj;jpy; fhtphpg; gLif  2. 2012 
C. ghyhW gs;sj;jhf;F gFjp   3. 2008 
D. nrd;id      4. 2001 
 A B C D 
a. 3 2 1 4 
b. 4 1 3 2  
c. 2 3 4 1  
d. 1 4 2 3   e. tpil njhpatpy;iy  

 
125. Find out the correct statements 

1. Agriculture is a practice of farming that includes the cultivation of crops, rearing of 
animals, birds, forestry, fisheries and other related activities. 

2. Agriculture constitutes about 31% of the Tamilnadu economy. 
a. 1 only   b. 2 only   c. Both 1 & 2      
 d. None of these  e. Answer not known 
rhpahd $w;iw Njh;e;njLf;fTk;.  
1. Ntshz;ik vd;gJ tptrha eilKiwfshd gaph;fs; rhFgb> fhy;eil tsh;j;jy;> 

gwitfs;> fhLfs; tsh;j;jy;> kPd;gpbj;jy; kw;Wk; mjNdhL njhlh;Gila 
eltbf;iffis cs;slf;fpajhFk;. 

2. jkpo;ehl;bd; nghUshjhuj;jpy; Ntshz;ikapd; gq;F Vwj;jho 31% MFk;. 



 

33 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 rhp     
 d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
126. How many million hectares is under rice cultivation in Tamilnadu? 

a. 5 million hectares   b. 4 million hectares  c. 8 million hectares   
d. 3 million hectares   e. Answer not known 
vj;jid kpy;ypad; n`f;Nlh; gug;gstpy; ney; jkpo;ehl;by; gaphplg;gLfpwJ? 
a. 5 kpy;ypad; n`f;Nlh;  b. 4 kpy;ypad; n`f;Nlh; c. 8 kpy;ypad; n`f;Nlh;  
d. 3 kpy;ypad; n`f;Nlh;  e. tpil njhpatpy;iy 

 
127. Find out the incorrect pair. 

Cropping Season          Harvesting Month 
I. Sornavari  - July - September 
II. Samba   - January – February 
III. Navarai   - February – March 
a. I only   b. II only    c. III only   
d. None of the above e. Answer not known 

 jtwhd ,iziaj; Njh;e;njL. 
 gaphpLk; gUtk;   mWtil khjk; 

I. nrhh;zthhp  - [Piy – nrg;lk;gh; 
II. rk;gh   - [dthp – gpg;uthp 
III. etiu   - gpg;uthp – khh;r; 
a. I kl;Lk;   b. II kl;Lk;    c. III kl;Lk;   
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
128. Match the following 

Pulses   Districts 
A. Bengal Gram  1. Kanyakumari 
B. Horse Gram  2. Nagapattinam 
C. Red Gram  3. Coimbatore 
D. Green Gram  4. Krishnagiri 
 A B C D 
a. 2 1 4 3  
b. 4 3 2 1  
c. 1 2 3 4  
d. 3 4 1 2 
e. Answer not known  
nghUj;Jf: 

gUg;G tiffs;    khtl;lq;fs; 
A. nfhz;lf; fliy 1. fd;dpahFkhp 
B. nfhs;S gaW  2. ehfg;gl;bdk; 
C. Jtuk; gUg;G  3. Nfhak;Gj;J}h; 
D. gr;irg; gaW  4. fpU~;zfphp 
 A B C D 
a. 2 1 4 3  
b. 4 3 2 1  
c. 1 2 3 4  
d. 3 4 1 2 
e. tpil njhpatpy;iy 
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129. Find out the Incorrect statements. 
1. Groundnut is the major oilseed of Tamilnadu. 
2. Groundnut is grown in Coimbatore, Thanjavur & Kanyakumari districts. 
a. 1 only   b. 2 only    c. Both 1 & 2 are incorrect       
d. Both 1 & 2 are correct e. Answer not known 
jtwhd $w;iw Njh;e;njLf;fTk;. 
1. epyf;fliy> jkpo;ehl;bd; Kf;fpa vz;nza; tpj;Jg; gapuhFk;. 
2. ,it Nfhak;Gj;J}h;> jQ;rhT+h; kw;Wk; fd;dpahFkhp khtl;lq;fspy; epyf;fliy mjpfk; 

fhzg;gLfpd;wd. 
a. 1 kl;Lk;   b. 2 kl;Lk;    c. 1 kw;Wk; 2 jtW    
d. 1 kw;Wk; 2 rhp  e. tpil njhpatpy;iy 

 
130. Find out the correct pair. 

a. Cinchona  - 1000M to 1100 m height in Anaimalai hills. 
b. Cardamom  - Hills of Madurai region at an elevation of 915 to 1915 mts. 
c. Cashew  - Theni district 
d. Pepper  - The warm & wet slope of Eastern & Western Ghats of TN 
e. Answer not known 

     rhpahd ,iziaj; Njh;e;njL 
a. rpd;Nfhdh - Vwj;jho 1>000kP Kjy; 1100kP cauk; tiu cs;s Midkiyg; gFjp 
b. Vyf;fha; - Vwj;jho 915kP Kjy; 1915kP tiu cs;s kJiuiar; Rw;wpAs;s kiyg;gFjp 
c. Ke;jphp - Njdp khtl;lk; 
d. kpsF - jkpo;ehl;bYs;s Nkw;F njhlh;r;rp kiy kw;Wk; fpof;F njhlh;r;rp kiyfspd; 

rhpTfspy; kpjntg;gk; kw;Wk; <ukhd fhyepiy cs;s gFjpfs; 
e. tpil njhpatpy;iy 

 
131. Find out the Incorrect statement. 

1. Namakkal, Salem, Karur, Erode and Coimbatore forms the Poultry hub of Tamil 
Nadu. 

2. The state has three major fishing, harbours, three medium fishing harbours and 369 
fish landing centres. 

a. 1 only   b. 2 only   c. Both 1 & 2 are incorrect        
d. None of these  e. Answer not known 
jtwhd $w;iw fz;Lg;gpbf;fTk;. 
1. ehkf;fy;> Nryk;> <NuhL> f&h; kw;Wk; Nfhak;Gj;J}h; Mfpa khtl;lq;fspy; 

Nfhopg;gz;iz ikaq;fs; cs;sd. 
2. jkpo;ehl;by; %d;W Kf;fpa kPd;gpbj; JiwKfq;fs;> %d;W ,ilepiy 

kPd;gpbj;JiwKfk; kw;Wk; 369 kPd;gpbj;jsq;fisf; nfhz;Ls;sJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 jtW      
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
132. Find out the correct statements. 

1. Fishing sector contributes to 1.25% of the Tamilnadu’s economy. 
2. Cuddalore, Sivagangai and Tirunelveli districts stand second with 9% of inland fish 

catch. 
a. 1 only   b. 2 only    c. Both 1 & 2 are correct      
d. None of these  e. Answer not known 
rhpahd $w;iw Njh;e;njLf;fTk;. 
1. jkpo;;ehL> nghUshjhuj;jpy; kPd;gpbj; JiwahdJ 1.25% rjtPjk; gq;fspg;igr; 

nra;fpwJ. 
2. flY}h;> rptfq;if kw;Wk; jpUney;Ntyp khtl;lq;fs; jyh 9 rjtPj cs;ehl;L kPd; 

cw;gj;jp nra;J khepyj;jpy; ,uz;lhk; ,lj;jpy; cs;sd. 
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a. 1 kl;Lk;   b. 2 kl;Lk;    c. 1 kw;Wk; 2 rhp   
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
133. What is the Average rainfall of Tamil Nadu? 

a. 915 mm  b. 945 mm   c. 950 mm   
d. 930 mm  e. Answer not known 
Vwj;jho vt;tsT kpy;yp kPl;lh; jkpofj;jpy; Mz;L ruhrhp kioasthf ,Uf;fpwJ? 
a. 915 kp.kP  b. 945 kp.kP   c. 950 kp.kP   
d. 930 kp.kP  e. tpil njhpatpy;iy 

 
134. Find out the Incorrect pair. 

a. North east Monsoon  - 47% 
b. South west Monsoon  - 37% 
c. Summer season   - 14% 
d. Winter season   - 4% 
e. Answer not known 
jtwhd ,iziaj; Njh;e;njL. 
a. tlfpof;F gUtf;fhw;W  - 47% 
b. njd;Nkw;F gUtf;fhw;W  - 37% 
c. Nfhilf; fhyk;   - 14% 
d. Fsph; fhyk;   - 4% 
e. tpil njhpatpy;iy 

 
135. Match the following 

A. Sathanur Dam   1. Crocodile farm 
B. Manimuthar Dam  2. Mugger Crocodiles 
C. The Papanasam Dam  3. Kariyar Dam 
D. Amaravathi Dam  4. A dam reached through zig-zag ghat road. 

A B C D 
a. 4 3 2 1  
b. 2 4 3 1  
c. 1 2 3 4  
d. 1 4 3 2  e. Answer not known 

 nghUj;Jf. 
A. rhj;jD}h; miz   1. Kjiyg; gz;iz 
B. kzpKj;jhW miz  2. rJg;G epy Kjiyfs; 
C. ghgehrk; miz   3. fiuahW miz 
D. mkuhtjp miz   4. tise;J nespe;J nry;Yk; kiyg;ghij top cs;s  

miz 
A B C D 

a. 4 3 2 1  
b. 2 4 3 1  
c. 1 2 3 4  
d. 1 4 3 2  e. tpil njhpatpy;iy  

 
136. Consider the following 

Assertion (A) : Coimbatore, Erode and Salem region is referred as “Textile valley of 
Tamil Nadu. 
Reason (R)     : The above region contributes a major share to the state’s economy 
through textiles. 
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a. (A) is false but (R) is true 
b. Both (A) and (R) are correct and (R) is the correct explanation of (A). 
c. (A) is true but (R) is false 
d. Both (A) and (R) are correct but (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A)  : Nfhak;Gj;J}h;> jpUg;g+h; kw;Wk; <NuhL khtl;lq;fs; jkpo;ehl;bd; [Tsp 
gs;sj;jhf;F vdf; Fwpg;gplg;gLfpwJ. 
fhuzk; (R) : Nkw;fz;l khtl;lq;fs; nerTj;njhopy; %yk; khepy nghUshjhuj;jpw;F 
Kf;fpa gq;fspg;ig mspf;fpd;wd. 
a. (A) jtW Mdhy; (R) rhp. 
b. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R)> (A) tpw;fhd rhpahd tpsf;fkhFk;. 
c. (A) rhp Mdhy; (R) jtW. 
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R)> (A) tpw;fhd rhpahd tpsf;fky;y. 
e. tpil njhpatpy;iy 

 
137. Match the following 

A. Nachiarkoil  1. Temple Jewellery 
B. Eathomozhi  2. Veenai 
C. Nagercoil   3. Coconut 
D. Thanjavur  4. Kuthuvilakku 

A B C D 
a. 2 4 3 1  
b. 1 2 3 4  
c. 4 3 1 2  
d. 3 2 1 4  
e. Answer not known 
nghUj;Jf. 
A. ehr;rpahh; Nfhtpy; 1. Nfhapy; eiffs; 
B. Vj;Njhnkhop  2. tPiz 
C. ehfh;Nfhtpy;  3. Njq;fha; 
D. jQ;rhT+h;   4. Fj;Jtpsf;F 

A B C D 
a. 2 4 3 1  
b. 1 2 3 4  
c. 4 3 1 2  
d. 3 2 1 4  
e. tpil njhpatpy;iy 

 
138. Find out the Incorrect statements. 

1. Tamil Nadu occupies third position in the country in silk production. 
2. Tirunelveli has some specialized areas for the manufacturing of synthetic silk clothes. 
a. 1 only   b. 2 only   c. Both 1 & 2 are incorrect    
d. None of these  e. Answer not known 
jtwhd $w;iw Njh;e;njL. 
1. ehl;bd; gl;L cw;gj;jpapy; jkpo;ehL %d;whtJ ,lj;ij tfpf;fpwJ. 
2. jpUney;Ntypapy; rpy gFjpfspy; nraw;ifg; gl;L Jzpfs; cw;gj;jp 

nra;ag;gLfpd;wd. 
a. 1 kl;Lk;     b. 2 kl;Lk;     c. 1 kw;Wk; 2 jtW   
d. vJTkpy;iy  e. tpil njhpatpy;iy 
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139. Find out the correct statements. 
1. Tamil Nadu accounts for 60% of leather tanning processes of India. 
2. Tamil Nadu holds 37% of all leather footwear, garments and components. 
a. 1 only    b. 2 only   c. Both 1 & 2 are correct    
d. None of these   e. Answer not known 
rhpahd $w;iw Njh;e;njL: 
,e;jpahtpy;> Njhy; gjdpLk; njhopyfq;fspy; jkpo;ehL 60% cw;gj;jpiaAk;. 
fhyzpfs;> Njhy; Milfs;> kw;Wk; Njhy; cgnghUl;fs; cw;gj;jpapy; jkpo;ehL jdJ 
gq;fspg;ghf 37% mspf;fpwJ. 
a. 1 kl;Lk; rhp    b. 2 kl;Lk; rhp   c. 1 & 2 ,uz;Lk; rhp   
d. vJTkpy;iy   e. tpil njhpatpy;iy 

 
140. Where is the stoneware pipe unit located ________ ? 

a. Ariyalur      b. Virudhunagar  c. Alangulam   
d. Virudhachalam   e. Answer not known 
vt;tplj;jpy; jkpo;ehl;bd; fw;fyd; Foha; Miy mike;Js;sJ? 
a. mhpaY}h;    b. tpUJefh;   c. Myq;Fsk;   
d. tpUj;jhryk;   e. tpil njhpatpy;iy 

 
141. Find out the correct pair. 

a. Sivagangai  - Moderate population 
b. Dharmapuri  - High population 
c. Thanjavur  - Sparse population 
d. None 
e. Answer not known 
rhpahd ,izia Njh;e;njL 
a. rptfq;if  -  kpjkhd kf;fs; njhif 
b. jUkGhp  - mjpf kf;fs; njhif 
c. jQ;rhT+h;  - Fiwthd kf;fs; njhif 
d. vJTkpy;iy 
e. tpil njhpatpy;iy 
 

142. Arrange the following districts in decreasing order of literacy rate in Tamil Nadu? 
1. Dharmapuri 2. Kanchipuram  3. Thoothukudi  
4. Nilgiris  5. Chennai   6. Kanyakumari 
a. 6, 3, 5, 4, 2, 1   b. 5, 6, 4, 2, 3, 1   c. 4, 6, 2, 5, 3, 1  
d. 6, 5, 3, 4, 2, 1    e. Answer not known 
gpd;tUk; khtl;lq;fis fy;tpawpT tpfpjj;jpd; mbg;gilapy; ,wq;F thpirg;gLj;jTk; 
1. jUkGhp  2. fhQ;rpGuk;  3. J}j;Jf;Fb  
4. ePyfphp  5. nrd;id  6. fd;dpahFkhp 
a. 6, 3, 5, 4, 2, 1   b. 5, 6, 4, 2, 3, 1   c. 4, 6, 2, 5, 3, 1  
d. 6, 5, 3, 4, 2, 1    e. tpil njhpatpy;iy 

 
143. Find out the correct statements. 

1. Tamil Nadu has a total railway track length of 6,673 km. 
2. There are 690 railway stations in the state. 

a. 1 only   b. 2 only   c. Both 1 & 2 are correct     
d. None of these  e. Answer not known 
rhpahd $w;iw Njh;e;njLf;fTk;. 
1. jkpo;ehl;bd; nkhj;j ,Ug;Gg; ghijapd; ePsk; 6>673 fpNyh kPl;lh; MFk;. 
2. ,k;kz;lyj;jpy; 690 ,uapy; epiyaq;fs; cs;sd. 
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a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 rhp     
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
144. Find out the Incorrect statements. 

1. Nagapattinam is an intermediate port. 
2. It handles the major coal & ore traffic in TN. 
3. Chennai is the first Principal port in the country for handling containers. 
4. The ports are currently capable of handling over 70 million metric tonnes of cargo 

Annually. 
a. 1, 2, 3 only  b. 1, 2, 4 only   c. 1, 3, 4 only  
d. 2, 3, 4 only  e. Answer not known 
jtwhd $w;iw Njh;e;njL. 
1. ehfg;gl;bdk; Xh; ,ilepiy JiwKfkhFk;. 
2. ,J mjpf epyf;fhp kw;Wk; jhJf;fisf; ifahSk; JiwKfkhf cs;sJ. 
3. nrd;id JiwKfk; ruf;Fg; ngl;lfq;fisf; ifahSk; ehl;bd; JiwKfq;fspy; 

KjyhtJ nghpa JiwKfkhFk;. 
4. JiwKfq;fs; Vwj;jho 70 kpy;ypad; nkl;hpf; ld; ruf;Ffis Mz;LNjhWk; 

ifahSfpwJ. 
a. 1, 2, 3 kl;Lk;  b. 1, 2, 4 kl;Lk;  c. 1, 3, 4 kl;Lk;  
d. 2, 3, 4 kl;Lk; e. tpil njhpatpy;iy 

 
145. Choose the incorrect statement about Tamilnadu 

1. In Tamilnadu the annual temperature ranges from 18ºC to 43ºC. 
2. Winter temperature in Tamil Nadu varies from 15ºC to 23ºC. 

a. 1 only  b. 2 only    c. 1 & 2 are incorrect  
d. None  e. Answer not known 
jkpo;ehL gw;wpa jtwhd $w;iw Njh;e;njL 
1. jkpo;ehl;bd; ntg;gepiy 18ºC Kjy; 43ºC tiu MFk;. 
2. jkpofj;jpy; Fsph;fhy ntg;gepiyahdJ 15ºC Kjy; 23ºC tiu khWgLfpwJ. 

a. 1 kl;Lk;  b. 2 kl;Lk;     c. 1 & 2 jtW   
d. vJTkpy;iy e. tpil njhpatpy;iy 

 
146. What is the percentage that has been contributed by Tamilnadu to India’s exports? 

a. 13.1%   b. 12.2%   c. 14.3%   
d. 15.4%   e. Answer not known 
,e;jpahtpd; Vw;Wkjpapy; jkpofj;jpd; gq;fspg;G vj;jid rjtPjkhFk;? 
a. 13.1%   b. 12.2%   c. 14.3%   
d. 15.4%   e. tpil njhpatpy;iy 

 
147. Find out the correct statement. 

1. According to the National Forest Policy 1988, a Minimum of one-fourth of the total 
geographical area must come under forest cover. 

2. The total forest cover of Tamil Nadu is lower than the forest area cover as mentioned 
in the National Forest policy 1988. 

a. 1 only    b. 2 only   c. Both 1 & 2 are correct  
d. None of these   e. Answer not known 
rhpahd $w;iw Njh;e;njL 
1. 1988 Njrpa tdf;nfhs;ifapd;gb> Gtpg; gug;gpy; Fiwe;jgl;rk; ehd;fpy; xU gFjp 

fhLfshy; #og;gl;L ,Uf;f Ntz;Lk;. 
2. Njrpa tdf;nfhs;is 1988 ,y; Fwpg;gpl;Ls;s tdg;gFjpia tpl jkpofj;jpd; nkhj;j 

fhLfspd; gug;G Fiwthf cs;sJ. 
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a. 1 kl;Lk;    b. 2 kl;Lk;   c. 1 & 2 rhp  
d. vJTkpy;iy   e. tpil njhpatpy;iy 

 
148. How much percentage of India’s forest cover comes under Tamil Nadu? 

a. 2.99%   b. 3.99%   c. 1.99%   
d. 4.99%   e. Answer not known 
,e;jpahtpy; cs;s fhLfspy; vj;jid rjtPjk; jkpo;ehl;bd; gq;fspg;G cs;sJ? 
a. 2.99%   b. 3.99%   c. 1.99%   
d. 4.99%   e. tpil njhpatpy;iy 

  
149. Choose the correct statements 

1. Soil takes 300 – 2000 years to form 2 inches of sand 
2. The soil of a place depends on the factors like climate, parent rocks only. 

a. 1 only  b. 2 only    c. Both 1 & 2 are correct  
d. None  e. Answer not known 
rhpahd $w;iw Njh;e;njL. 
1. ,uz;L ,Q;r; kz; cUthf 300-2000 Mz;Lfshfpd;wd. 
2. kz;zpd; jd;ikahdJ mg;gFjpapy; epyTk; fhyepiy> jha;g; ghiwfs; Nghd;w 

fhuzpfis kl;Lk; rhh;e;Js;sJ 
a. 1 kl;Lk;  b. 2 kl;Lk;    c. 1 & 2 rhp  
d. vJTkpy;iy e. tpil njhpatpy;iy 

 
150. The hot wind of the Western India is called? 

a. Norwesters  b. Loo    c. Mountain breeze  
d. Valley breeze  e. Answer not known 
,e;jpahtpd; Nkw;F gFjpapy; tPRk; ntg;gf; fhw;W vt;thW miof;fg;gLfpwJ? 
a. ehh;nt];l;Nlh;];  b. Y}    c. kiy fhw;W    
d. gs;sj;jhf;F fhw;W e. tpil njhpatpy;iy 
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